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Time ;: 3 Hours - Marks : 200
Instructions :

(1)
(1)

* Each question carries one mark,

063 |24 50 8.8 Srdoy.

Choose the coirect or most appropriate answer from the given options to the following
questions and darken, with blue/black ball point pen, the corresponding digit 1, 2, 3 or 4
in the circle pertaining to the question number concerned in the OMR Answer sheet,
separately supplied to you,

AHS BN HB 1DNHH BS2AS TUS DBTH JIrSsnd JAED O
Hr00T wol 1, 2, 3 BE 4 30 ad)d OMR J8rerd Hgdand’ (H4) Sopis

BT o> HoROAS DBED 2T/2rE & oo D) GHTrA0D DoNSB.

Choose the incorrectly spelt word from the following set of words :
(1) acquaintance (2) maneouvre
(3) erroneously _ (4) demurrage

In the following question, four words are given, of which two words are nearly the same or
opposite in meaning. Find the two words that are similar or opposite in meaning and indicate the
number of the correct letter combination provided in the options.

A. Possessive B. Dreadful

C.  Secretive D. Repugnant

(1) B-C (2) B-D (3) A-B (4) A-C

Choose the correct rearrangement of the following jumbled. sentences to make it a meaningful
P . Music is perhaps the most popular of all the arts and we find that classical Indian music
continues its traditions.

Both have deep traditions and changes only happen gradually.

For example, concerts are usually by a vocalist or by a solo musician playing an
instrument, with a minimum of percussionists.

Indian culture is rich in the arts - literature, music, dance, theatre, fine arts and, in modemn
India, cinema and television as well. _

The two main types of music in India are the North Indian Hindustani and the South Indian
Karmatic music. '

(1) EDBAC (2) DEACE (3) DAEBC (4) ABECD

m g 0w »

Match the words in column ‘A’ with their meanings in column 'B’. Choose the right answer from
the options given below : ‘
Column ‘A’ Column ‘B’

(i) Sanguinary A
(ii) Punctilious b. Inpeccable
(1) Dogmatic ¢. Murderous
(iv) Reprehensible d. Pontifical

| ¢. Verybad

@ @ @H dv

(1) d a c
(2)
(3)
(4)

o o a0
[ = - ]
(= ol - =¥

=]
c
d
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Pick out the most effective pair of words from the given options to make the sentence
meaningfully complete. |

The Prison guards degraded themselves with their and treatment of the prisoners,
(1) differential/regal (2) cavern/fantabulous
(3)  surreptitious/overt | (4) inhumane/ignominious

Match the following definitions with their one-word substitutes.

A. Aplaceina large institution for the care of those who are ill .. Cartographer
B. A line of descent traced continuously from an ancestor i Infirmary

C. The art of effective or persuasive speaking or writing ui. Genealogy
D. A person who draws or pmdl.;u:nu maps iv. Rhetoric

A B C D
() i @ iv i
(2} i ii iv i
(3) iii ii i iv

(4) 1 jii i iv

Choose the right matching of the synonyms to the four words given below :
(1)  Arbiter (A) Unconcerned
(i) Blithe (B) Thrash
(iii) Flail {C) Controller
(iv) Zeal (D) . Fervour
() (@) (m) (iv)
(1) (A) (B) @ (©)
(Z) (B) (A) (D) (©)
(3 (C) (A) (D) (B)
4) (C (A @) D

In the following quesl:inn; four words are given, of which two words are nﬁarl:.- the same or
opposite in meaning, Find the two words that are similar or opposite in meaning and indicate the
number of the correct letter combination provided in the options.

A.  Shambles | B. Flexible
C. Periodic D. Organised
(1) A-B (2) A-D

(3) B-C (4) B-D




10.

11.

In the following question, the first and the last sentences of the passage are in order and
numbered S, and S.. The rest of the passage is split into four parts and named P, Q, R and S.
These four parts are not given in their proper order, as they should appear in the paragraph.

Read the passage and find out which of the four combinations correctly forms the sequence of
sentences in the passage :

S;: One key prevention is making personnel throughout the organisation aware of the fraud

risk management program, including the types of fraud and misconduct they may occur.

F : With this in mind, prevention and deterrence are interrelated concepts.

Q : This awareness should enforce the notion that all of the techniques established in the
programme are real and will be enforced.

R : The ongoing communication efforts could provide information on the potential

* disciplinary, criminal and civil actions that the organization could take against the

individual.

S : ' If effective preventive controls are in place, working and well-known to potential fraud
perpetrators, they serve as strong deterrents to those who might otherwise be tempted to
commit fraud.

Sg+ Fear of getting caught is always a strong deterrent. Effective preventive controls are,
therefore, strong deterrence controls.

(1) PRQS (2) QRPS
(3) QRSP (4) RSPQ

Answer the question after reading the following passage :
The traditional approach to parenthood is completely unsatisfactory. Women have to spend many
hours in child-rearing. Those with professional skills may sacrifice their career in all respects for

the benefit of only one child. Because women spend time caring for their children, the services of
many expensively trained teachers, nurses, doctors and other professionals are altogether lost to
society. Even if child-rearing is shared by the father, it simply means that two people waste time
on an unproductive task for which they may be entirely ill-equipped. Society would be much
better served if parenthood was made the responsibility of well-trained professional parents who
would look after groups of children as a paid occupation. This would end amateur childrearing
and allow the biological parents to fully develop their careers for the benefit of society. Critics

may argue that children reared in this would feel rejected, at least to some extent, by their natural
parents. This is quite untrue. Evidence from societies where collective childrearing is practiced

shows that children merely experience minor upsets and are hardly affected by the separation.

What is the function of expressions like ‘completely, in all respects, altogether, simply, entirely,
much, at least to some extent, quite, merely and hardly' in the passage 7

(1) . To maximize the points against their opinion

(2) To persuade the reader by well-structured argument

(3) To mislead the reader so that she/he keeps on worrying ahout the gist
(4) To minimize the points in favour of their opinion

For the question below, determine the relationship between the pair in the question and then
select, from the options the pair having a similar relationship to the first pair.

Mendicant : Impecunious ::

(1) Complainer : Petulant (2) Hat; Askew

(3) Philanthropist ;: Prodigal | (4) Critic : Vagabond

P11




13.

14.

18,

16.

17.

Pil

In the following question, four pairs of words are given. Find the word pair which have
dissimilar meaning from the options given below :

(1) retrospective/prospective (2) entice/lure
(3) abhor/detest (4) introspection/brooding

Choose the right alternative to make it a meaningful sentence.

Though she is by nature but she does not like that any stranger should on her privacy.
(1) lugubrious, lonely (2) garrulous, meddle
(3) salubrious, interfere | (4) gregarious, intrude

Fill in the blanks with appropriate words by choosing the suitable set of answers from the options
given below the paragraph. -

The disqualification as a (i) ______ of defection does not apply. If the original party of a member
(ii) with another party and he either changes his political party as a consequence of the
merger. A merger is (iii) _____ to take place only if not less than two-third of the (iv) ___ of the
Legislative party (v) to such merger. .

(1) (i) consequence (i) merges (iii) deemed (iv) members (v) agree

(2) (i) consequence (ii) agree (iii) deemned (iv) members (v) merges

(3) (i) consequence  (ii) deemed  (iii) members (iv) merges (v) agree

(4) (i) consequence (i) agree (iii) merged . (iv) deemed  (v) members

Which of the following is an ungrammatical sentence 7

(1) Have they not been practising yoga since their childhood 7

(2) The team has been working hard meticulously for six months before they submitted the
project to the company. :

(3) Hasn't he repaired the vehicle yet 7

(4) If I were you, I wouldn't write this examination.

Determine which of these words fits well in all, or the maximum number of sentences.

(i) Thebill ____reduction in electoral expenses.

(iiy Theplan_____ ten percent growth in production.

(iii) The budget for the current year more or less double turn-over than that of last year.
(iv) The company a good production due to better prospects of sugarcane production.
(1) seeks (2) rated (3) increased : 4 envisages

Choose the word from the following list of words, which is correctly spelt,
(1) Facetiots (2) Obviete
(3) Paraphemelia (4) Parcimonious

P w e _ - sy ———
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18.

19,

In the following question, a sentence is given in which one word is printed in bold type. Your

task is to select the word or ex
word printed in bold.

His acquirtal by the jury surprised those who had thought him guilty.

exoneration
arraignment

(1)
(3)

Read the following job advertisements and answer the questions that follow :_

(2) conviction

(4) denunciation

pression from the alternatives which convey same meaning as the

Tem:hing Fmiﬂnn Available

Rwepliunht

| Gandh: Internntmna] School,
| one of the top performing |

| Sairam  Airconditions Cumpanjr
seeks full-time front desk

I A position 15 available
for a part time graphic

| schools is looking to recruit :receptionist.'fuumuﬂbe:

| designer to join Hall

I $ | .
| tp:::lin;ﬁw :it heﬁ:mmgﬂc;z:‘ i w . oomamcaton | ]‘;'{-;uukmus:;:m::hpﬂt;tmiﬂ
| in English. | : _ using various computer
Erv- ver week :— mwnt in basic computer | programmes.
| (flexible times) -, (RN oy
| ¥ 40 per hour - polite and approachable !
| Flus b::muses ET.HI'LI.HE ‘ﬂﬂllﬂ_ﬂ' 728 @
‘Which job nffm ﬂnnhlﬁ time 7 . .
(1) Receptionist (2) Graphic designer
(3)  All the jobs (4) Teacher

Choose the right sequence of words to fill in the blanks marked (A) —u(F) in the following
sentences to make it a meaningful paragraph.

How quickly things change in the technology __(A) .! A decade ago, IBM was the awesome
and __(B) .King of the computer trade, universally _(C) .and respected. A decade ago, two
litcle _ (D} __called Intel and Microsoft were mere blips on the radar screen of the industry, _ (E)
start-ups that had designed to make the chips and software for IBM's new line of personal
computers. Though their products soon became industry standards, the two companies
remained _ (F) .children of the market leader. |

(1) (A) = upstart, (B) — feared, {E} - mmmmﬂ, (D) - business, IIE} —~ upstarts,
(F) = undisputed.

(A) - business, (B) — undisputed, {C} - companies, (D) - upstart, (E) - companies,
(F) = protected.
(A) - business, (B) - undisputed, (C) - feared, (D) = companies, (E) = upstart,
(F) - protected.

(A) — companies, (B) - protected, (C) - business, (D) - feared, (E) - undisputed,
(F) - upstart.

(2)
(3)

4)

P11
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21, Three persons A, B and C have started a business with a total investment of T 5 lakhs. In this A
invested T 40,000 more than B, while B's investment is ¥ 50,000 more than that of C. If the share
of B in the year-end profit is T 25,500, then the share (in rupees) of A in the profit is
Snfpdh Ssven A, B, C e Ao &r 5§ oo Pads Turdo sodoord.
RS’ A ©F 558 B S0%.87. 40,000 D505 AEPHA O™ B DEPaA C DP2A Loh
8. 50,000 D503, HOSS o0 ergiods B arer 7 25,500 eond, oS’ A TEF
(Erarand’)

(1) 21,000 (2) 31,500 (3) 35,500 (4) 18,000

22. A manufacturer undertakes o supply 2000 pieces of a particular component at the rate of € 25 per
piece. According to his estimate, even if 5% of the supply fail to pass the quality test, then he will
make a profit of 25%. However, as it turned out, 50% of the supplied components were rejected.
The loss to the manufacturer is

2.8 & )8 2.8 1 HFEDS DAY 2.850638 T 25 5 2000 &0 HEHT FHaD8

LTI, @4 wody |Wsdo J8HT TS I8S 5% e HHES' Ti

SondD )88 ©SDE 25% rHWOB. SV JEHT wanS DA S 50% BEH Sk
0@, By ad)Bors §98 Sho.

(1) T 14,000 (Z) T 13,000 (3) ©12,000 (4) 215000

23. A certain sum P amounts to ¥ 29,400 in two years and to T 34,300 in three years on compound
interest. Then the sum P is (in rupees)
Foeb &) P Boch HoSd orel SHIESGSE SO 8. 29,400 S8 Srd oSS ovel

BESSS' SOD 6. 34,300 ©ON0O. Byt & Fiw; P (rarcheds’)
(1) 21,600 (2) 25,600 (3) 22,600 (4) 20,000

24. Aand B are at points P and Q respectively. The destinations of A and B are Q and P respectively.
Both of them started at the same time in the opposite directions on the same route, After some
time they met each other at the point R. A and B take respectively 4 hours and 9 hours to reach
their destination from R. If the speed of A is 48 kmph then the speed of B (in kmph) is
A 08ain B e HRJM Docsyen P HAD Q @ S5O e, A SHOCL B & Bl
forgen SHAT Q HOciy P. S0HHD 28 HHairdd 2.3 Ardoss’ Sin8s ﬁié
2adhenBorth. Fod HDHAIrAE I Dot R H6 Senindomryth. R 408 A, B e 0
g TEPRE SBIM 4 fodew, 9 Hodied DHoHo Bosoaryd. A o Kobs
48 5.5:. wond B Mo (Hobr¥s 4.5, et
(1) 39 2) 32 © (3 46 4 7

25. Shekhar started a business investing T 25,000 in the year 1999. Afier one year in 2000, he
invested an additional amount of 10,000 and Rajeev joined him with an amount of T 35,000.
After another year in 2001, Shekhar again invested another additional amount of 10,000 and
Jatin joined them with an amount of ¥ 35,000. Rajeev’s share in the profit of £ 1,50,000 earned at
the end of 3 years from the start of the business in 1999 is
DOSSI50 1999 &' T 25,000 EP2ASE FHB 2.8 FTR) (D GoDOTID. 2.8 Hose 80
ST 36 2000 HOSSIB0S" &S BSSOM T 10,000 DEPLAT DB, HEA ¢ 35,000
PSS oAl S D0, HF Joddito Sorid 2001 b H¥ essom
¥ 10,000 2EP2xA DD SO G 35,000 DEPDASE' 288 D88 08 EDW®.
1999 &' Erdo rE0DHONRIHIB Hod Jordh HOSS T DIES FoOS Iweo
erZ30 T 1,50,000 ©&° ovdS e ,

(1) 35,000 (2) 240,000 (3) ¥50,000 (4) ¥25,000

P11 . B B 5B




26.

The average salary of all the workers in a factory is ¥ 15,000. The average salary of 12

technicians is ¥ 18,000 and the average salary of the rest is ¥ 12,000. Then, the total number of
workers in the factory is

2,8 eS8 @0t HATE Hien HSIn & 15,000, ®oHS' 12 Hod B hahIe
ot Adbain G 18,000, SH8cin anfiE SASTE Aty 2By A 12,000, ey &
565" &) [ndo HATWY

(1) 2 2 24
(3) 28 (4) 20

The ratio of number of employees in the technical section and the management section of a
company is 7 : 2. The average salaries of employees in the technical section and the management
section are T 25,000 and T 47,500 respectively. The average salary of employees of these two
sections together is (in rupees) -

2.8 HoHS'D rodas Jerd e Jopy, VS Doy &dibe Sopg Ty VD8
7 : 2. roiag Dard alghe Hhtw ddo Hoa Ao SR Dar aihe Hitn Ao,
JBDT G 25,000 SHOCD Er 47,500, & Doth Drred’D &b 0D Hiito #do
(Grarched)

(1) 37,500 (2) 35,000
(3) 30,000 : (4) 40,000

Three persons A, B and C respectively take 30 seconds, 45 seconds and 60 seconds to make one
round around a track. All of them start at the same point P on the track. Thén match number of
rounds made by the persons in the List-I as given in List-II when they meet again at P.

28 SyEsd ertin a8 thé S8HErRS A, B, C ©F S5en SO 30 DERQ, 45 EQR,
60 DED SnHodrd. e e a8 DothY P I ddoddr dHhideo rdohod,
Sder ol Dot & rder-1 S'D SiSen Thd <t 2rder-11 &' oo, BN a8
oabod.

List—I/2rDw -1 List-II/2rder -1

i A @ 6

(i) B () 3

(i) C © 4

| @ 2

T‘hcc{}nﬂm}#his:fﬁﬂ@émﬂa:
® @

(1) (a) (d) (b)

(2) (a) (c) (b)

(3} (e} (b) (d)

4) (a) (c) (d)

Fi1



29,

A sum of T 2,600 is divided amongst P, Q, R, S such that
P's share (Q's share R‘ssharl: 2

Q's share  R’s share S's share — 3

Then P's share 15 |
72,600 0P, Q,R, S & &) & Do Hohd
Paer Qarer RSeT 2
Qoer“Raer-Satr =3

)t P 3005, aTir
(1) T300 (2) ¥320 (3) T340 (4) T280
30. Ramu earns in July thnice as much as in each of the other months. The ratio of his earnings in
July to the annual earnings is :
oraiwd @3S 3T sorcho Wifer (H8 Fod’ 53 sorairdl Srdbly $od. edds
>BS 5T ) sorcho, HoSé 60 Todo ecrahos A8 :
Iy 3:13 (2) 3:.14 3 3:11 4y 3:12
31. From atown, 10% of population is migrating for various reasons every year. If the population at
the end of three years will be from now 96228, then the present population of the town (in lakhs)
ks
OTE SETOIL ¥ IDR0S DD H0SS 880 10% Hod Jod IV, T[N
od Sorched mn::.-é,an'mﬁaeﬁ' & D6 2T 96228 AOLVOD. o (HAYS Hie
aver ©59)
(1y 1.22 (2) 1.26 (3) 132 4) 1.12
32. Match the following questions in List — [ with the corresponding answers in List—IT :
List-1 List-1I :
(i) What percentof 50is 2 7 (A) 4%_
(i) What percent of 5is 5 ? (B)  1200%
(iii) What percent of 7 is B4 7 (C) 2%
(iv) What percent of 6.5 litres is 130 ml ? (DY 150%
2D -1 'O 1HI1 05 DS — 11 &' HOGHIH JSPTISWOS 2SHHDHSD.
arDer -1 e -1
() 2030508 Jodrdo? (A) 4%
i) = ;5 dod Téf:r% 8508 ? (B) 1200% \9
(i) 7S Do TS0 84 ©HK0S ? C) 2%
iv) 6.5 Do Jos 7o 130 0.d. 0307 (D) 150% [
(1) () @) (Gv) <
(1 M K B (© v
2) A) (D) B) (©
3) A) () (D) (B
4 ) @O © @
P11 5] 10-B




37.

A clock was started at 12.00 noon. When the time is 4.30 p.m, the hour hand has turned through
the degrees

2.8 KACTSo® HErErIo 1200 fobed Drdodoord, Sldhiw Adbolgo
4,30 8005 I, oo e B0AS Alfiew

(Iy 110° (@ 120° (3) 135° (4) 95°
Which of the following is in ascending order 7
1808 S’ iy 15508 &9 18 08 7

1321 2113 1213 - 2131
O 372 @ F52E O 37% @ 7373

In a joint business A, B and C invested capitals in the ratio 5 : 6 : &. If the ratio of the shares in
their profit is 4 : 3 : 12, then the ratio of their periods of investments is ,

2.8 0 g>rS0S' A, B, T en 5: 6: 8 D8S Dépaden DS, erod’ ad
Fere DAL 4:3: 12 vond 16 DEPaien DES serey A HE

(1) 5:3:12 (2) 8:5:15 (3) 25:18:16 4) 2:1:3

A person left a city P to city Q in a car at 8.00 a.m. He travelled at a speed of 90 km/br for
3 hours. After that the speed was reduced to 80 km/hr. If the distance between the cities Is
510 kms., at what time did he reach city Q 7

sHS 2.8 358 Hhodn P Hod Hhmsn Q 8§ adcho 8.00 fovesd ahent¥dard.
Kots 90 8.2, IS 3 Hoden |DHasrdomrth. $Share Jrsn 80 &.80/M0. & $hod
Sairdlorrdd. Dodh H&mpdne ¢ Ardsin 510 4.2 socnd Hodn Q § wéd
D05 Hedocedn . o

o
(1) 1.00 p.m. 2) 1.30p.m.
(3) 200pm. | (4) 12.30 p.m.

The average weight of A, B and C is 65 kg. If the person D joins them then the average of
wﬂghmnfthnufuurpmnmhzmm‘mkg The average weight of B, C and D is 75 kg. Then
the weight of A 15 (in kgs)

A, B 50050 C TIngg SHen 25 65 & D o 358 T0s° 50h & Senihd it
220e3 70 84T ®3&008. B, C shddin D © Hiféw 280e 75 S &5pdd A G308y e

Grody .
(1) 60 (2) 65 (3) 70 (4) 55

g

Amﬂnﬂb&cﬂﬂlh:lﬂi:ﬂfﬂpﬂltﬂfhﬁtﬂ lﬁ.mwithclwaﬂnnangle&n“.mm;htufﬂwmm
is 1 m. The distance between the man and the pole in meters is

2.5 15 5. déiier Do EnE) e|fizrmrd) 30° @l ¥ood' Sryar . eéd J)
1 o, 9848, HoarAs s e Srdsn e
14

(1) lw’_ﬁ (2) ﬁ% (3) v @ 153

P11
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39.

41.

42.

In the decimal expansion of m the digit in the 7000™ decimal place is

o= Gy, 570F DRGES' 7000 S 503 F0S' e o3

{1) 2 2 4

E) N 4) 7

A closest approximation to the product 0.3333 x 0.25 x 0.4999 x 0.125 x 24 from the following
is

& (808 QS 03333 x 0.25 x 0.4999 x 0,125 x 24 OV 2.8 @0 SHd AFFono
a)E0d |

1
M 3 @ 3 3 @ 3

e 2

(1) (
(3) 4 0

1 ! I 1 1

NO—VE VBT NT-v6 6-5 NS-4
g . 1
s

The least number which when divided by 20, 25, 35 and 40 leaves remainders 14, 19, 29 and 34
respectively 1s

20, 25, 35 SO 40 T RO SO 14, 19, 29 Hdchy 34 Farenm o edjod
LR, WOE - -

(1) 1394 (2) 1594

(3) 1894 (4) 1094

If T 2420 are divided among A, B,Csothat A:B=5:4,B:C=9:10, then C gets
22420 DA, B,COS0A:B=5:4,B:C=9:10 adbitpr H00& ey C &old

(1) 2800 (2) 2840
(3) 900 (4) 2720

Among 1100 boys and 700 girls who have appeared for an examination, 42% of the boys and

- 30% of the girls passed the examination. The failed percentage of the total is

2,E HOBEK H2BS 1100 2rentd, 700 erdind 42% rend, 30% rdien aa)Do.
©3% Fndod &) e TéEo

() ﬁ%% (2) 152%%

(3) 63% ' 4) 6 I%“I}

The number of primes between 10 and 50 that remain primes when their digits are reversed is

10 HBcw 50 © e PWomosed, T8SD ©oe FTOS SrddNHess
Irroderdhturr &) oréd Hogpg .
1 4 (2) 5
(3) 6 4) 3

Pi1
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46.

47,

Match the following :
List=1 List - IT
A. Litmus (Dye) I Conifers
B. Agar-agar (Jelly) II.  Lichens
C. LSD (Narcotics) M. Algae
D. Turpentine (Solvent) IV. Fungi
& 508 U0 2SDGE0HSD,
Do -1 Do -1
A DR (8ddozko) I %6
B. 25503 . BESen
C. LSD (ArdSE|15880) M 3Aderen
D. &3 0T (|[TSed) IV. 3Do|oren
Correct match is : / DOTDS 4
A B C D
(1) I IV 1 1
(2) 1V I I IO
3 o Iv. 1 I
4 I m I
Match the following :
List - I List - II
a.  Electric charge i. Farad '
b.  Electric field ii, Coulomb
¢.  Electric potential iii. Newton/coulomb
d.  Elecrric capacity Civ. Volt
& 500 T BaJSGS0H, :
Do -1 ader - 11
B, 20gd eddsm i >ESs
b. Doy FSn ii. Hexroaw
c.  Degd PoPahS il Srgeacdy/Srearon
d Aois Srad iv. &

The correct match is : / HOFToS & -
a b ¢ 4

(1) il iii iv i

(2) iii i i iv

(3) v i 1l i

(4) 1 v i il

P11




48. Which statement is correct with reference to the role of UV radiation in water purification ?

(1) It removes small particles.

(2) Itkills/inactivates micro-organisms.

(3) It removes harmful chemicals.

(4) It adds taste to the water.

DA HZDHBheS" UV 88eresd H020H0DS SOTS s HBodw.
(1) 568 508 Hrg] BeawIoH Sohothd.

(2) SrEl A0 SoDL/SPES S0 TN,

(3) IFVETDA SArdLT LN SOAothHe.

4) D38 oD HDD SOOI,

49. Match the following :
List - I List - II

A. Lipids i, Orange

B. Carbohydrates ii., Sunflower

C. Proteins iii, Soya

D. Vitamins iv. Rag

& 1800 TR0 28065040,

ader -1 e -1

A OBBe i o=

B. o@)ar@feny ii. padibd

C. |&¢Sex iil. sy

D. D&DSen iv. of

Correct match is : / HOTS 2

A B C D

(1) i iv iid i

(2) i iv i i

(3) il ii i iv

4 i v i iii
£0. Which of the following represents homogenous scientific group of animals ?

(1) Bat, Pigeon, Duck, Hen (2) Crab, Fish, Prawn, Whale

(3) Hen, Duck, Goat, Sheep (4) Man, Orangutan, Gibbon, Monkey

51208 TOS* DA BoSIHO HNAAH TLACH HIETD) ATDDOS ?

(1) 6000, FHSSw, e, FADY  (2) D, T, Bahy, Sofieo

(3) FaARY, wréd), D, B (4) ArSych, Adofierd, 2amS, £8
P11 B
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51. Read the following statements and choose the correct combination ;
A.  Typhoid is caused by bacteria B. Common cold is caused by virus
C.  Malaria is caused by bacteria D. AIDS is caused by a virus
(1) C&Darecorrectbut Aiswrong. (2) B & D are correct but A is wrong.
(3) B & C are correct but D is wrong. (4) A & B are correct but C is wrong

& 1500 DIV BP0 TR DT ERoaD ool
A Darond 2riocir Sod S0, -

B. &rgrdm zenzn pdh o 308,

C. J®8asr2riscir 38 008,

D. AIDS 2.5 300 S0 dedod.

(1) C,Da8Tda 50 A 008 s,

(2) B,D QO TR0 A HOTHASO 5.

(3) B, CRO@AD A D A0TAS 5ot

(4) A, B I8TAD 5 C HOTDAS 5.

52. The practice of growing different types of crops in the same field in sequential seasons is called
- as "Crop rotation’. One of the following aspect is NOT correct with crop rotation.
(1) Reduce the disease incidence caused by pests.
(2) Control of weeds.
(3) Increased crop productivity.
(4)  Depletion of soil fertility.
28 Sit08S" B Fh 8570 HoLOD LITR S0 288 E5rHrEo Hododa)
‘0§ Ard ) Wotrd. 8800 TS o8 ®0oT0 DD 8BS SNAHA A0
(1) D e S0 ST argdoen séihes,
(2) Sengy DwEe dorde.
(3) Soardho edsdddo.
(4) Vo arddodhe e,

53. Ecological pyramid shows the number, energy or biomass at each trophic level. Generally
ecological pyramids are upright. However, one of the following pyramid is ‘inverted’. Identify.
(1)  Pyramid of biomass of forest ecosystem.
(2) Pyramid of number of tree ecosystem.

.(3)  Pyramid of energy of sea ecosystem.

(4) Pyramid of energy of grassland ecosystem.

158 £FAE Prow (trophic level) 'R A Doy, I8 BE A0 eIt DEVS
ArDaow. rordeor edds dSwGen AErdrT (upright) dodrow. SR & fod
HEMB S’ 25683 éeochen (inverted) ™ AOLVOD. FOR HBOH0A.

(1) @S2 ed0 S35 DODVOHONS AS0T Gl |

(2) TP w5560 SHSPBO HOVOHODS JoPE DS,

(3)  Dd0|dhey 356 S50 Ho0S0DS 48 HEIS.

(4) DDYY 20hen B8 S5SPE DRSNS ¥& DENE.

54. Which of the combinations represent human blood ?
(1) RBC, Lymphocytes, Astrocytes, Osteocytes
(2) RBC, Lymphocytes, Chondrocytes, Astrocytes
(3) RBC, Lymphocytes, Eosinophils, Chondrocytes
(4) RBC, Lymphocytes, Eosinophils, Basophils
Ardsye 558 NoDoHODS e FSI0 A 7
(1) RBC, DogfFpéien, e nden, epfiridSen
(2) RBC, ooy, grold pdHen, ol éden
(3) RBC, offphen, andaden, groldndSen
(4) RBC, DogFpdien, abS hden, 2rFhden

P11 S .1541




55.

Read the following statements :

(a) Sudden and heritable changes in plants or animals are called as ‘mutations’.

(b)  Amla fruit is rich source of Vitamin 'C’,

(¢) Alexander Fleming discovered Penicillin (antibiotic).

The correct option is :

(1) (a)and (c) are correct but (b) is wrong,.

(2)  (b) and (c) are correct but (a) is wrong.

(3) All(a), (b), (c) are comrect.

(4) (a)is correct but (b) and (c) are wrong.

& 200 DSt arod e ichdo Tabod.

(a) IwHod T oo e Eor HOG ®HId80 TosHOR Srdied
'Arél 10 SOren’ eotrd,

(b) A Heren dE HOSreoS DHNS C D 8 dotrow.

©) oBTodd ok BVIOS (wodcirds) & iy,

DO WIS

(1) (a) OC () E’Jﬂ-@é&] 2 (b) OTLSH .

(2) (b)) 04w (c) SOTHAD 5N (a) POTHRG 0.

3)  (a), D), (c) ®J) HOID.,
@)  (2) SOTDSA SR (b) DO (c) HATDID £,

Read the following statements :

(a) Leaves appear green in colour because they do not absorb green light but reflect it.

(b) Development of forests in areas where previously forests existed is known as

*Afforestation’.

(¢) Carbon tetrachloride is an ozone depleting substance.

The correct option is :

(1) (a)and (c) are correct but (b) is wrong.

(2) (b) and (c) are correct but (a) is wrong.

(3)  All(a), (b), (c) are correct.

(4) (a)is correct but (b) and (c) are wrong. -

&1 208 1 DSDT O edichdo Tabod,

(2) JFren sHDND) TFoad Faocd mt:;h HoHEH0 FPron S8 @) efondym
S Q.

(b) @085 S0 eSIHen God ol Lﬂ'mﬁ‘ 0330 ©HIHPR ‘©LD) S0’
(Afforestation) 04D,

© SESBErEDS, 550 oo sordo.

RO mﬂ‘:ﬁ.“m

(1) (a) s08d® () HOTRD 5R (b) AOTAE 5.

(2)  (b) 22000 () AOTHAD 52 (a) LOTLAS 0.

(3) (@), (), () B, HOTDSD.

4) (a) O 5 (b) 0BT (c) POTDAIR S

Quinine, the drug used for malaria treatment is obtained from this plant

(1) Belladonna (2) Cinchona

(3) Bael (4) Aswapandha

SHBBAITD S0DH0 TobardE AaL3ErRoT 4TS DAS0 & Zns) Hod uﬁ;&.&é}ﬂ&
(1) Bl (2) Do

(3) B 4) edtiod

P11
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. 58,

P11

Match the following :
List ~ 1 List =11

1.  Ore of Al (Aluminium) a. Magnetite
ii. Ore of Fe (Iron) b. Baoxite
iii, Ore of Cu (Copper) ¢c. Philosopher's wool
iv. Ore of Zn (Zinc) d. Malachite
E~T BT T VN GVY
wDw -1 Do - II

L ©iACHOo et 8 riy e
TRt S b. 2rBadS
ili. 50 (Copper) réoad c.  erdps yd
iv. 205 ordd - -d SrerBdS
Correct match is : / HOTDS 2%

i i i v
(1) ¢ b a d
(2) b a d C
(3) d b c a
(4) b ¢ d a

Which one of the following is used in fireworks ?

(1) Sodium (2) Calcium

(3) Sulphur (4) Phosphorous

180d oS BAD LIrsahen @ Hod) Sairds’ addrAard 7
(1) &&cho 2) sdHabo

@) Bey5 @) FHsR

Study the following and pick up the wrong statement :

(1) Chief cells produce gastric enzymes.

(2) Man has 4-chambered heart.

(3) Haemoglobin is a respiratory pigment.

(4) Insulin is produced by o-cells.

& 1800 D 850050 T HOFD AR HBoHHW.
(1) AP Seren 2360 JOBDHOD ad )90 Tained.
(2) N&jﬁ]ﬁ' 4 oenad) Hod Eodh.

(3) IJ‘WQ:E o8 50 SQESn.

4) o-Sere) R0 )OS (Do,

[s]
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61. The solutions having basic character from the fﬂHﬂW]JIEHIE

1.  Lemon juice
ii.  Washing soda solution
ii, Vinegar
iv. Milk of magnesia
v. Coffee
1200 o8BS’ 36 thmo o [Trderen
i Sl SN0 -
ii. afe Mo |ordedD
iii. aenid
iv. 2 e Dhyadr
.
(1) i, iii, v (2) ii,v
(3) 1w,v (4) 1,i1v
62. Natural rubber is.polymer of
(a) Ethene (b) Isoprene (c) Acetylene
(1) (b)only (2) (c)only
(3) (&), (b), () (4) (a)only
DR S 82508 ol DLW
(@) &4S (b) OADS © RNROS
(1) @) SSD (2) (c) 3D
(3) (a)®) (@ @) () S
63. Which of the following are poor conductors of heat ?
(a)  Pure water (b) Iron
(¢) Air (d) Steel
(1) (c)only (2) (a), (c)only
(3)  (a), (b) only (4) (a)only
& 808 S DD J50) AYTTTD ?
(@)  HEWS D (b) 2@SSw
() m™d @ b
(1) (c) SMed @ (@), () Smed
(3) (). (b) SmM&D @) (a) SM&D
64. “Acid rain” is caused by the presence of oxides of X and Y in air. X and Y are respectively
(1) Nitrogen, Sulphur (2) Sulphur, Lead
(3)  Lead, Mercury | (4) Nitrogen, Lead

nﬂé‘xmvuum&mm.ﬁmwa@"aﬁﬁm X SH8cy Y e
ST

(1) BE=S 3006 @2 a‘nn&ad.
(3) B8, oyed @) D= B8

P11 [S] B 8B



67.

Maich the following :
List - I (Physical Quantity) List - I (Unit)
a. Surface tension 1. Poise
b. Impulse . Pascal
¢. Viscosity iii. Newton/m

d. Pressure iv. Newton-sec.
S00 el 2aSSdod.

ader -1 88 ooh) wDor - I (BDSremsn)
A Suddie . arowed
b. [5S'BS80 i, 2;r0ydS
c. fyfied ii.  Argeadn/d.
d. DGS3w iV,  SraS-DESD
Correct match is : '
0TS 4

a b ¢ d
(1) i i iv ]
(2) iii i1 1 v
(3) iii iv 1 ii
4) iv i il iii

B
-

Pick up the wrong statement of the following :

(1)  Light year is the unit of time.

(2)  Cream is separated from milk when it is churned. This is due to centrifugal force.
(3) The density of water is maximum at 4 °C temperature.

(4)  The velocity of sound on moon is zero.

&1 1808 TS’ HBSD S HBOBOH.

(1) 508 H0SS)550 PO FoADSE [DATrESD,

(2) od DDESHM ) FIH&0d. HE stman o Yot pedw.
(3)  4°C S 3 NS ro|ded MBS,

(4) oI G50 Wried Aredgeim.

Pick out the wrong statement in the following :

(1)  Steel is more elastic than copper.

(2) The audible limit of sound of human ear is 20 Hertz to 20000 Hertz.

(3) When light travels from air into glass its frequency changes.

(4) Cadmium rods are used in Nuclear reactor to control noclear fission.

& 1808 DS’ HB:D a5 Hdotod.

(1) ©ON 500 &by pad P8 B0y,

(2) DN TD DS &Y H5 HOG 20 Tr o 20000 21T

(3) o8 md Dol rerd's |HATBODSIH TR DS STEE0D.

(4) Bo|&5 OCr§sS’ doi& DDA ey TahardE 28000 0l sEeh.

P11
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68.

@

Assertion (A) : If a body moving in a cireular path has constant speed, then there is no force
acting on it.

Reason (R} 'I'hé-gimr:diﬂuuftlmwlﬂcityvmmrnfabadymwinginntimulu_palhis
changing.

(1)  (A)is wrong (R) is correct.

(2) (A)and (R) are correct and (R) is the correct explanation of (A).

(3) (A)and (R) are correct and (R) is not the correct explanation of (A).

(4) Both(A) and (R) are wrong.

DSBS (A) : a8 HESO Srdsnd Q0% Sy PSS 5O -:i'SJJ.-E;n,r.S‘ PR
O30 HATAHED.

PEHO(R)  : 2.8 3)=8 Srdoss SDoT 309 38 HOF A% JPBETHOHD.

(1) (A) &3y, (R) 20 000,

(2)  (A) SOBCEM (R) SO0, SO (R) 8-S (A) 50 5O o0& A0,

(3)  (A) OAW (R) A8 wondd. O/ (R) 088 (A) 5 A0 oond 3082
e,

4 (A) SOOI (R) &3y,

~ An observer looks at a tree of height 15 m. with a telescope of magnifying power 10. To him the

free appears
(1) 15 times taller (2) 10 times nearer
(3) 135 times nearer (4) 10 times taller

15 0. DSy TP, 2.8 548, eSS0 10 fie> QiS00 &2TrN0D HaROTI .
bt & T

(1) 15 0D S EDYN0A. (2) 10 B SHST SRDRNOL,
(3) 15 B& SHEm EDDaod. C(4) 10 D&Y Ay EQDAN0S.
Match the following : -

List -1 List - I

a. Dalton i. Laws of motion

b. Newton ii. Atomic theory

¢. Faraday iii. Theory of relativity

d. FEinstein iv. Laws of electromagnetic induction

& |f08 8 24500040,
aDer -1 Do -1
a OS i K daHarew
b &MAS i H8sren Hrodsn

. dOB il DY Depodaw

d D8RS  iv. JSchEAro8 B ArEren
Correct match is : / 3D &G
a b ¢ d
(1) 1 i v iil
(2) i @ iv i
(3) v iii ii i
1 ii iii

P11




71.

Which one of the following statements is not correct 7
(1) Alauddin Khalji detached politics from Religion.

(2) Mohd. Bin Tughlag introduced ‘Iqta’ system in Delhi Sultanate.
(3)  Firoz Shah Tughlag Collected ‘Jiziya' even from the Brahmans.

(4)  The famous Persian festival ‘Nauroz’ was introduced at Dalhi Sultanate Durbar by Balban.

& 800 TS’ D (DHSBSS0 HOWANOA T ?
(1) &0 00 T28cHINODH FHHON0S Berads Hd)

) A8 HDIVES BT DErSSd HIHDBO K B-DS-SiE.
(3)  (2&rIE0e OB Seh 2RI D) A SAren FHOO ST -r-Hifs

(4) 1S TodS HADHS Dotk ‘TEeI" 0 D LUS SomyBS' areryS ISHHIDBS.

72. March the following : -
List-I List-IT
(a) Kabir - 1 Cobbler
(b) Raidas - i Rajput
(c) Sena - i Weaver
(d) Pipa - iy Barber
& 1800 E3R e BETHSW.
arDer-1 wrDer-1I
(a) D5 - 0 S
b) Cawerd - i ozHdS
€ & - il Fesddd
(d) S - v Sdsdod
@ ® @© @
(1) iii i iv i
(2) iv i 1i i
(3) i iv i jii
4) i T 1T R
73.  Match the following :
Texts Writers
(a) Tarikh-i-Firuz Shahi - i [sami
(b) Tabagat-i-Nasiri - i Zianddin Barani
(¢) Futuh-al-Salatin -~ il Minhaj-us-Siraj
(d) Tarikh-i-Mubarak Shahi - iy Ahmed Sihrindi
& 1800 TR 2SHEHHHN.
(o dsnen) | (Siondben)
(a) =0f-2-08F e - i 2%
®) Serid-a-dD - i AciradS 28
€) D=0l -JerddS - il S -wT-hos
d) wof-2-dvarsE iy - v w8 HErod
The correct match is : / 50T 2368 -
(a) () () (d)
(1y i i iv i
(2) i i i iv
(3) iv u i i
4y i 1] ii iv
P11
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74,

75.

76.

Arrange the following wars chronologically :
(a) First Anglo Mysore War (b) Third Carnatic War
{c) First Anglo-Maratha War (d) First Anglo-Sikh War
& 1806 chgSnod) BerdEhod |adind.
() [ soff-DArdD dinGan (b))  Surhs SPOS dlngsn
©) B eol-HIrod co@sn . (@)  Bcde soll-Rsy; clngdn
(1) (®),(a), (c), (d) (2) (c),(d), (b), (a)
(3)  (d), (a), (b), (©) (4) (), (b) (e} (d)

Assertion (A) ;- In some places Artisans and craftsmen participated in the revolt of 1857

Reason (R) :- The British Economic policy destroyed Indian Village Industries and Handicrafts,

The correct answer 15 :

(1) Beth (A) and (R) are true and (R) is not the correct explanation of (A).

(2) (A)is true, but (R) is false.

(3) (A)is false, but (R) is true.

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

Mn:; (A) : 1857 a&herend’ TS IHBDHVH HOL T8 HyHho o0

8,

rEmaD (R) | (DER TOAE;, 608 Derdsn erdat$y mabed H8Fed Sodin da
S arddsn ThHA.

RO PRSI0

(1) (A) A (R) Bodr D23, SR (R), (A) S8 HOB00S DG S

(2) (A) Q230 5N, (R) &3y

(3)  (A) S35, (R) dzso.
@) (A) HBEN (R) Dodr A2s40. (R), (A) A% 580 adedOm.

Assertion (A) - ThﬂMughﬂEmpumatmndmuiﬂimagmufaﬂIﬁaﬂnHadnEhﬂhmdAhmnd
Shah Abdali's invasions.

Reason (R) :- The British East India Company treated the lnnMuglmwwmgm:
contempt.

(1) Both (A) and {It} are true, but (R) is not the correct explanation ﬂf{h]

(2) (A)is true, but (R) is false.

(3) (A) is false, but (R) 1s true.

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

DAES (A) : TOSY HOAD eME-r-eFyd Goddrge &oid e
HeS0 FHDOSDOWSE.

PoESD (R) : D80 &réh) =08l Hoddn 458 Inond IEsHod T
ZrSS0a A Red.

(1) (A) DB (R) Bodr Dassiw. SR (R), (A) S50 SO©0NN D0 S

() (A) d230 5D, (R) Sizy.

(3)  (A) S35y SR, (R) daso.
(4) __(A) $0a5» ®) Bodr dzw. (), (A) S S0sawd 500,

PFil
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77.  For whom Tilak acknowledged as his Political Guru ?
(1) Bankimchandra Chatopadhyaya (2)  Vishnousastry Chiplankar

(3) Chatrapati Shivaji (4) Sisirkumar Gosh
808 I8 5 orabad S HBoT.

(1) 2ofodo|t) H&rerch (2) PTQ DroLs
(3) PlEHD I>A 4 336 Hdird rn

78, Which of the following pair is not correctly matched ?

(1) Karshak Praja Samithi -~ Fazul Hag

(2)  Unionist Party .= Liagat Ali Khan

(3) Indian Muslim League - Mohd. Ali Jinngh

(4) Khudai Khidmatgar - Khan Abdul Gafar Khan
& 508 TS’ O H0 BN 23 T 7

(1) 58 (e NS - (S5s

(2) dRrRcHAYP > -  Oatrpd edgrS

3) =oAADS SwhS OF - RS ed A

(4) Sooran 885&mrS - e S 550 g

79. The popular folk Dance of Maharastra is known as

(1) Dandiya (2) Thumri

(3) Dadra (4) Thamasha
DIT(PS'D (HS0D 2D S gesn

(1) oddir 2) S

3 o= (4) <rar

80.  Arrange the following Political Associations chronologically according to its inception :

(a) Madras Native Association (b) Poona Sarvajanika Sabha

(c) All Assam Ahom Association . (d) Indian Association

& 800 023809 SoPOD B IDB0DODS TeNM 28 SeridIEH0S" |ciuy,
(8) DTV LS eFVTHAS (b) o DOsadE N

) o5 odr)Helrd oFodhas @ ADS oFDEHLAS

(1) (b)) (a). (c) - (2) (a), (b), (d), (c)

(3) () (@) () (d 4) (a), (), (c), (d)

P11 [s]



81.

The Nagara, The Dravida and the Vesare are

(i
(2)
(3)
(4)

The three linguistic groups in India

The three main styles of Indian Temple Architecture

The three main musical ‘Gharanas” prevalent in India

The main Social Groups in India

S8, 1R SHbcin F0s exn
TOSTHOS'D Brdd DG grar Dgrme,
PESTE0S'D e Barodh DOvie T Hiden,

(1)
(2)
(3)

FOSBI0S D Sureh 1957 Hofiss Hoar Hdew,

(4) rOSTEioS D T DG e,
82. Match the following :
List-I List-I1
(a) Pandith Ravishanker i Sarod
(b) Bismillah Khan | ii Samthoor
(¢) Pandit Shivakumar Sharma iii ~ Shehanai
(d) Amijad Ali Khan iv  Sitar
& 808 TN s,
Dol arDee-1I
(a) Dol 5DI0ED i HES
(b) DR g ' i Dodrd
(c) DodAS F3BSE 45 i RO
(d) @25 wdgrs iv e
(@ m & @@
(1) iv i i
(@ i i iv  ii
(3) iv i i i
(4) n v i iii
Pi1 j - | 8| o 4-B




B3. Many earliest Buddhist sources mentioned about six Mahanagaras of North India. They am.
(1)  Ujjayini, Saketa, Sravasti, Kausambi, Kasi, Rajgriha
(2) Taxila, Saketa, Rajgriha, Champa, Kasi and Kausambi
(3) Saketa, Rajgriha, Kasi, Champa, Sravasti and Kausambi
(4)  Sravasti, Pataliputra, Kasi, Champa, Saketa and Kausambi

@88 POSATHIWSR ad Jop; IBIvoH SHT SO TG |Hodhswen
PEHOLNTY 0N, B eSS

(1) &P, i, 7SN, TRrod), 57 Hockny ovaiiysr,
(2) @530, s, oan)ly Sod, o Hodin Frod.
(3) B, oyl 8, S0d, (35 Hodin Tarod.

4) (S, FODJS, 57, Hod, FES, Hoow FRrod.

84. Assertion (A) :- The Gandhara school of art is also known as the Indo-Greek school.
Reason (R) :- The Gandhara school of art was highly influenced by the Greeco-Roman traditions,
(1) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(2)  (A)is true, but (R) is false.
(3) (A) is false, but (R) is true,
(4) Both (A) and (R) are true and (R) is the correct explanation of (A).
DBIES (A) : rogrs $3OR ‘2088 3D @ Srar Deoar.
PSS (R) : momrsd 930 |AE-S5HS roHordbhane 3¢ 20 (H2rDéSHanod,
(1) (A) 0OCiD (R) Bodr Q23.50. 5 (R), (A) S50 H0&005 8edded S,

(2) (A) Qa0 5w, (R) &3y,
(3)  (A) &3y D, (R) A0,
@)  (A) 0cED (R) Bodhr Azsw. (R), (A) S8 800 DS,

85. Which text describes “a daughter has been as a source of misery” and “only son can be saviour of

the family™ 7
(1) Shatapata Brahmana (2) Kausitaki Brahmana
(3) Taitiriya Brahmana (4) Aitareya Brahmana

BRI dsptl OEIPH  SroODHY Tawdr ﬁamal 58038 HSrid
SPS T S0 DSBS (Hoddedw.,

(1) ¥S5¢ 2eme (2) hHes i

(3) BSBAdH |2 | (4) &0dh 2w

- — ey — I R ——

P11 [s] - 288




86.

P11

Which pair is not correctly matched ?

| (Gupta Rulers) (Their Queens)
(1) Samudragupta - Dattadevi
(2) Chandra Gupta [I - Dhruvadevi

(3) Kumaragupta - Prabhavatidevi
(4) Chandra Gupta I - Kumaradevi
& 206 A DO HBWADS 2ed T ?

(03) orayren) (0 DY HerHew)

(1) Qadoleh haycho -  &S=Ed
(2) Bodasd Soldrecio - Goardd
(3) Bodrd ey - eS8t
4) e Sodthepdh - BoArsdd

Arrange the following composition of texts chronologically :

(a) Bana's ‘Harshacharitra’ (b) Hemachandra's ‘Kumarapalacharitra’

(c) Chand Bardai’s ‘Prithvirajraso’ (d) Bilhan's *Vikramankadevacharitra’

& 808 HoSSn®D © FAHRAS FOITPIO0 (DB TerdEos Hysw,
(a) areaditpa) Ay Qo s’

B) IrSdolthod Sk ‘Bodrsare B’

© oodaboron S ‘DadsoSor

(d) Dyed T ‘DESroEDS o

(1) (a), (@), (®), (c) (@2 (), (), (©), @
(3) (d), (a), (b), () (4) (a), (b), (c), (d)
The Sailendra Rulers of Sri Vijaya Empire established two monasteries in India. Where were they
located ? |
1. Bodh Gaya | ii. Nalanda
iii. Nagapattnam iv.  Saranath
The correct answer is :
(1) iand iii (2) iiandiii
(3) iii and iv (4) iandii .
3 Dach MErasy 3Told Taren S8 Biod Both HTed 6355 FDoNS 7
i, &% Ndb . ~Seod
i, HS&0 | iv. arSod
AR PIPETO ;
(1) in0oiw iii | (2) i OGS il

(3) il O iv (4) iSO

= — =



89.

Match the following :

(Kingdoms) (Capitals)
() Pandyas - i  Ursiyur
(b) Pallavas - i Kanchipuram
(¢) Cholas - iii  Kuruvur
(d) Cheras - iV Mﬂdurm
€ |S00 AR 2805 DA, .

(oraagSeny) (o HPwSnen)
(8) Jodogen - | ardcrd
(b) Reeyen - 1 SoDdan
(€) Sew - i I
d) Do - iv 5D

The correct match is : / DOTDS 2368 :
@ ({® @« @@

(1) i 1 iv i

(2) 1| i1 i v

@) i iv i -

4) iv 1u 1 i

Auerﬂnn[&J:«Thcﬂhnlumahunhadnhnngnvmmmphtinswth&nhﬁnmsm

Indian Culture and heritage. |
Reason (R) :- The Chola kings were passionate about Indian Culture, religion and heritage.
(1) BﬂhWmdfk}mhuﬁbuttﬂ}ismth:muphnaﬂunﬂfm}.
(2)  (A)is true, but (R) is false.
(3)  (A)is false, but (R) is true. |
(4) Both (A) and (R) are true and (R) is the correct explanation of (A). .

[BEJES (A) : S0 &) b eHArS' rE8H 305298 S0 TEDS s HOHES
T4 TOLAAE DT APD 28 DOPS MITEIR) DDoO,

TORED (R) : SY drofen r88ah 500398, HES0 HOGK FEISS H0HS S0
TR B8 108 800 SORST.

() (A) S0cin (R) Dodr Mz, (R), (A) % HO800S DG 57y,
(2)  (A) D0 R, (R) Sy

(3) (A) 83y 50, (R) Daso,

P11

4)  (A) DO (R) Bodr Dasasn. SHBC (R), (A) £ HB&0S DS,
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91.

Which one of the following organisations is proposed, in the last week of June 2018, to be
established by the government of India for the improvement of academic standards and the
quality of higher education by repealing the University Grants Commission ?

(1) National Council of Higher Education

(2)  All India Council for Higher Education

(3) Higher Education Commission of India

(4) University Education Commission of India

2018 23S 0S8 o, Doy |NSrere D BHo HO &S D& T é%

$
Dotkeo FHo s 1Hibd o arRStd 1modl) EadS ardod’ fod odld’
HORD DTN TBAITreA |DSOoD0 7

(1) FaSS S e rabb SsEns

(2) &b 30adr TS HB robyl 2 Eae
(3) oDl BN SIS ey Fodcir

() cOrRS0 8 D EaS SAS @D 0dair

92. Examine the following statements :
A. The subjéct of the prevention of food adulteration is in the ‘central list' of Indian
Constituion. -
B. The ‘Prevention of Food Adulteration Act, 1954" came into force on 28" September, 1954
in India.
Choose the correct answer :
(1) Both A and B are incorrect (2) Only A is correct
(3) Only B is correct (4) Both A and B are correct
800 wored H08Dotsod
A @55 30 Dok HowodoDd oo grdd ool ‘Sold arde &' aod.
B. ‘e 4D dodm 9o 1954 rEsmfiod’ 1954 ol 28 A 'S
DT O, -
DO 2w JohE Wabod ; ‘
(1) AHOCN B BoGr S0P T3 (2) A AreD SOTSS
(3) B S SO]/edd (4) A SO0 B Bodhr HOFTHSD
93, Which of the following are included in ‘abiotic environment’ ?
A. Wind B. Water C. Animals
D. Plants E. Soil
208 4S8 20S (0DHErSE) erstoods’ TEIPD D 7
A. o (TD) B. A% C. 208
D. 3ofpen E Jo
Choose the correct answer : / OGS 283:7720:0 HODE Wabod :
(1) B&Eonly (2) A, C &Donly
(3) ABCD&E (4) A,B&Eonly
P11
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9.

Pl

In retaliation against US announcement imposing tariffs on steel and aluminium items in March
2018, India notified higher tariffs on items imported from the US which include :

A.  Almonds, apples, walnuts |

B. Phosphoric acid, boric acid

C. 800 CC (or more) motor-cycles

D. Some grades of iron and steel

3r0) 2018 & &5y, OOriHAHe SVIOD wosen JOJr WO A0S
DGOSTrRS $5ABEOT | HAPGOS WO H0d AHHS TnH S0 D IWHOD
rESTio bt DoTed |HEB0D0H 7

A 2r80, DN (DB, TSI (B1EY)

B. arar)0f essvo, 508 edo

C. 800 CC (00 ®0d5) 20odd) Irerd PiWw

D. 20w, &roy sy Hodohod R Ssen (HS )

Choose the correct answer : / DO B2 HODE Tdhod :

(1) B,C&D only ' (2) A,C&D only

(3)  A,B & D only (4) A,B & Conly

Examine the following statements about Telangana and India on the basis of data provided by
2011 Census and Socio Economi¢ Outlook 2018 ;

A. The percentage of urban population to total population in 2011 was more in Telangana than
in India.

B. The percentage of decadal population growth rate during 2001-2011 was also more in
Telangana when compared to India.

C. The sex ratio of population in 2011 was more in Telangana than in India.

D. The literacy rate of population in 2011 in India was more when compared to Telangana.

E. The density of population in 2011 in India was less than that of Telangana.

2011 axrer farosen HOAD ‘FATr JEIE Ddlens - 2018 WoA0DS JIrordo
GO BOOMD HOGW PFESHION 020600 08 DO (BOTe)
H8%Dood

A. 2011 Hoss 508" Bndo amrrd Hhe sy réo rdaiod’ iobh Boorads'
w8020 oSod.

B. 2001-2011 &7 Se5y BT $598 Ue.n TS0 Srar oSt )38 Boornd'
ST dvodod.

C. 2011 & axrerd’ Doff 1.)8 rddBiod Som Boomre S 8. .

D. 2011 &' sfode Ben vomrard’ 80 ¥ réaliod’ 255m acdod.

E. 2011 &' 27z Fro|&e Boomn $0) ordalifod’ 850,5m aodod. .

Choose the correct answer : / DOTDS 2arand JobE Fobod :

(1) A, CandD only (2) B,D &Eonly

(3) A,B,C,.D&E (4) A,B,C &E only

= —



96.

Which among the following are guaranteed by the Constitution of India ?

A.  Freedom to move freely throughout the country .

B. Freedom to assemble peacefully without arms

C.  Freedom to own, acquire and dispose a property anywhere in the country
D.  Freedom to practice any trade or profession

808 i3S’ 38 prdé orarolio H* @O ?

A T30S D 1rodod wonar HISIT HotdoT DS,

B. wacingdarodor 7oacing Sdrdren 2505F Ts).

C. rosf¥os D oo wonsd esNon O8 @od o003 HBE
&:5002500 53

‘D, o JErdo Bor 598 sona TS D).

Choose the correct answer : / HOTDA Bar2ne) JODE TADOS :
(1) B&Donly . (2) A,B&Donly
(3) A,C&D only (4) A,B & C only

Arrange the names of the following Speakers of Lok Sabha in a chronological order of the office
they held :

a. K.5. Hegde - b. RabiRay ¢. Balram Jakhar

d. Shivaraj Patil e. P.A. Sangma |

808 ArD0HDAS S8 B 0IEG DB Perd|ES0 BErdor @108 :

e Sa%.er] b. D8 ¢. pooro2ss

d. 3Sod rads e Do) DOMY

Choose the correct order/answer : / QO STerabEod/aara0d JodE Sahod
(1) ¢adb&e (2) c.bad&e

(3) acbd&e 4) adec&b

Examine the following statements with regard to office of Speaker of Lok Sabha :
A.  Neglam Sanjeeva Reddy was Speaker of the Lok Sabha twice.

B.  Speaker of the Lok Sabha always comes from the ruling party.

C.  K.S. Hegde was succeeded by Balram Jakhar as the Speaker.

- D.  The Protem Speaker of the 16™ Lok Sabha was Jyotiriditya Scindia.

S'E0 556 HSDE 5020800% 208 DI3BmOS H0D0NA :
A, S5 VEGT Do Ho43 B Bod D 28D Aol

B, 8038 ol ed) Ive H)E5 ) Fadb.

C. 200D =88 3.0, Tl dhard H)E8 DA DY AroTSw.

D. 165 S8 H 0D )58 2'BorOé; HOOTT S5ST00TIw.
Choose the correct answer : / S0 RArTTR) D0E Tahod ;

(1) A, B&Donly (2) A&Conly

(3) A&Donly (4) A,Cé&Donly

Pl
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99, Examine the following statemﬁnmu:ithrc:gardmhlangma State Panchayati Raj Act, 2018.
a. Roznamcha is a diary in which details of dead people are maintained.
b. The quorum for the Grama Sabha if voters are 3001 to 5000 is 300 members.
Thuligibﬂll}'a#fnrofﬁ#nf&rpm_whisﬂm+ ‘

d. The number of wards in a village with population exceeding 1500 but not exceeding 3000 is
11 (eleven).

BOOM T Dotrone oef K40 2018 & Ho20H0DS DSGLOH HODoB0A |

2. Ao Sive DIored SArch Takn B6 Faddr) o,

b. 3001 cood 5000 SE Hosy (e 525 B 300 HoA HEDgew.

c. (P AGH0W DADE wQeh Scin) 21 Hoseé yorew,

d. 1500 2areradd oD HAAM 3000 Baryr Do (mbod e Hows 11

L
=

(ST o).
Choose the correct answer. / DOTDA 220D Jond Tabhod ;
(1) a&bonly (2) c&donly

(3) b,c&donly (4) acé&donly

100. Examine the following statements with regard to the Constitution of India :
a. Area-wise reservation (371D) prevails over reservation under Article 15(4).

b. The main object of Article 12 is to secure paramountcy of Constitution in regard to
Fundamental Rights.

¢. Under Article 13(3) paramountcy of the Constitution doesn’t extend to non-legislative
sources of law.

d. Article 17 has been implemented by Protection of Civil Rights Act 1955.
arseéh orerom H020H00 Lod 38RO H02D00S :

a. ©OI0w0 15(4) & D008 280 FESIOD WOES80 371D 208 D008
D20 403 ArEG0 Tewarsy 898008,

b. @Y FEpoR J020HOD TEOMHSSH PodsD S0 12 T
Sopg afio.

c. ®OE0R0 13(3) SeDHOOD) THTES B¢ LTt oariomdEs S8ocih.

d. &8s e D085 SO0 1955 o 400 ©HEG0 17 Bden Tohadheod.

Choose the correct answer : / ﬁ@@ﬁ 220N JODE Hdhod :

(1) bé&donly (2) ab,ec&d

3) b,c&donly (4) a&donly

e a— e e E— - — ——— ———
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101. Which one among the following is not true with regard to joint sitting of the Parliament ?

()
(2)
3
(4)

In the absence of Speaker, Deputy Speaker presides over it.

In the absence of Deputy Sepaker, Deputy Chairman of Rajya Sabha presides over ir.
In the absence of Deputy Chairman, the Chairman of Rajya Sabha presides over it.

It is presided over by Speaker. '

1808 S’ 3ERodS Hodknd HAFFiSneH 2020000 JODIA TAA.

(1)

(2
3
4

258 BOS" Auyres £)85 @558 & 3o,

A335e3 050 BAS', oo Al DDIS ©558 S SWrochad.
Qo353 B0 BAS, oraginds B01S 655 & S0,

£358 eS8 & S0t

102. The Grand banks and Dogger banks are famous for

103,

104.

(1)
(3)

Pearl fisheries (2) Shallow water fisheries
Deep water fisheries (4) Coral reefs

rod ar oSy SHBain @il erjoioen B8 0 ?

(1)
2
3
4

(1)
3

(1)
(3)

a0eh sy HODHGE So2odHoD Hé: |Kreo

M serod’ oo dhen

ere aorad’ oot o

DT DEEen
‘Milpa’, a type of cultivation in Mesoamerica is known as

Shifting cultivation - (2) Nomadic herding

Plantation agriculture (4) Subsistence agriculture
VPO 'R0 ‘ery s OO DOT HH A7

IR afanrdbo (2) HHrER0

&) HgdoHo (4) HSord Sisdraho

Which one among the following is got correct 7

(1)
(2)
(3)

(4)

President of India with the consent of the Governor can entrust any matter related to
executive power of the Union to thé State Government,

Govemor unconditionally can entrust any matter related to executive power of the State to
Government of India with its consent,

President of India without the consent of the Governor can entrust any matter related to
executive power of the Union to the State Government.

Governor can entrust conditionally any matter related to executive power of the State to
Government of India with its consent.

808 TAS HE DA A7

(1
2
(3

(4)

08 1D30és SEIN0LTE @SOS D DADINTT N8, K386
e BE' o7 ) 19920 550850 @HIN0TS St I,

o b SEIN0ErE edrdsnod’ O DAdbnRT K585 Baddr Yod
DZheb s edHad O ed o S .

SOl (DZheds SEINT RIS 8HSGSoS D DACHINTT K385 &8
BE00 O 1920 50550 8530 ST I,

O Db SN0 LT BTSS0S’ D DRCHSVTY #3515 Yol 1H2heg
08 & 0 ASoE N0t St ).

P11
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108.

106.

Maich the following :
List =1 List =11
(8) ‘V'shapedvalley i  Wind erosion
(b) ‘U’ shapedvalley i  Karst topography
(c) Sink holes i Glacial erosion -
(d) Yardangs v River erosion
800 o0 2EHGT0N: -
wrder -1 e -1
8 ‘Vesdydsah i H581808dbo
b)) VesrdHdad i oS Persys
(€) ~ofanrd) i SIS |ESHE abo
(d) oirBarofis iv S8 |EEcho
Choose the correct answer/pairs : / 0T Bar20/BS JODE TAHON
a b ¢ d |
Iy u v i i
(2) iv  @ii i i
3y i i il dv
(4) i i v i1
Match the following :
List =1 List- L1
(a) Inter tropical convergence i Equatorial calm
ZONE
(b) Polar front ii  Sub-tropical calm
{(¢) Horse latitudes it Convergence of westerlies and
polar easterlies
(d) Doldrums iv.  Convergence of N.E. & S.E.
trades
808 el 8aHGS00
Do -1 Do -1
(a) 08 adhas By i 2 By Domge hodeo
©dH8s Dodeo
b)) Do Twriio i adachs B Ao d Hodeo
) o&i5ogore i 70 ddve edHGe0 SO
| e &80 DedrTren
(d) &Sidoex iv gy daty ehadh agErd
SsSre @dHdoo

Choose the correct answer/pairs : / SO Barend/286:5 JonE Tabod :
a b c d |

(h i iv i i

@ i i i v

@ iv i 6 i

4 i i iv i

107. World's deepest oceanic trench is
(1) o‘;?n (2) Mariana (3) Puerto Rico (4) Sunda
(353 $O BTSN I B0 ¥ol%0 DB ?
(1) &Sor 2 Sog . (3) o @) oo

3B



108. Assertion (A) : EI-NINO phenomena is associated with Peruvian current.

109,

Reason (R) : Peruvian current is a cold current.

The correct answer is :

(1) Both (A) and (R) are individually true but (R) is not the correct explanation of (A).

(2)  (A)is true and (R) is false.

(3) (A)is false, but (R) is true. |

(4) Both (A) and (R) are individually true and (R) is the correct explanation of (A).

DAV ES (A): IS-JS @©F  Sishcho DEFDESS SIS (Hwrod
- o000, |

OO (R) : DEFIADS HAWS (HTET0 2.8 TS |Darro.

QO TS0

(1) (A) 0cin (R) Dodr 2ty SR (R) @R (A) 50 HOTDHS DSten 5.

) (A) ©TO 23, 200K (R) &8O Sy,
(3) (A) ®30 &3y 50 (R) @D 2.3y,
@) (A)Ocw (R) Do sy AN (R) &6 (A) 50 HOTeS DSB8,

Assertion (A) : In southern hemisphere, westerlies are stronger with very high velocity of
| winds than in the northern hemisphere.

Reason (R) : In southern hemisphere, there is vast expanse of ocean and therefore
: westerlies attain terrific speed.

(1) Both (A) and (R) are individually true but (R) is not the correct explanation of (A),

(2) (A)is true and (R) is false.

(3)  (A)is false, but (R) is true,

(4) Both (A) and (R) are individually true and (R) is the correct explanation of (A).
The correct answer is ; -

DAES (A): SEerd oS D) HD HITo adod A¥oS' D) I

Sdare £0% 8dE Fhod avomr Hrown.

rmo(R) : Sferg Ao Dre Jdnrod Hoddo SFreor )8 DHSTen
RS Vriod' woeraw,
PO ddrerdo

(1)  (A) SHOGIL (R) Dodr 25y SR (R) @0 (A) 50 DO DSt 7.
2)  (A) ©TO 2y HOA (R) 03 &,

3) (A) 30 S5, R) VO 25y

(4)  (A) O (R) Dodr 2.y OGN (R) ©FA (A) 50 HOTDHA D380,

P11
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110.

111.

112.

Assertion (A) : Coral bleaching refers to whitening of coral reefs.

Reason (R) : Great Barnier Reef near Australm is the largest coral reef formation,
The correct answer is :

(1) Both (A) and (R) are individually true but (R) is not the correct explanation of (A).
(2) (A)is true and (R) is false.

(3) (A) is false but (R) is true.

(4) Both (A) and (R) are individually true and (R) is the correct explanation of (A).
DAJES (A): (DY Hook oo Daod Datod DSHETE @ur TR
sSmo(R) : e pdalir &6 Lﬁeﬁ 2rOaD5 85 ©36 2.8 Do L;':a'# Hag.
BT Hadrordo

(1) (A)SOc50 (R) Bodhr 2.3y SR (R) @30 (A) 50 DOTA DSGED S
(2) (A) 0B a3y 0805 (R) o6 &3y,

(3) (A) ©FTS S5, 50 (R) 0TS .5y,

(4) (A)DOak (R) Bodr 2.3y SO (R) @38 (A) 5 SO 0.

Examine the following statements :

A. A biodiversity hotspot is a biogeographical region, which is biologically diverse.

B.  They have high concentration of endemic species.

C.  Waestern ghats in India is a biodiversity hotspot.

208 T oD (RS8n0N) HODodod

A A5 DS S .395 2.8 45 2THOE (2080, 26 2.8 ASHSOM™ DDA,
B. ®d3aEardod ebior Solhs)st dodrow.

C. rodDiod 5250 Soadoen o8 A PDEsg 35945 A pdd.

Choose the correct answer / statements : / 8T DIS0e0/25720:) JoDE Babod :

(1) A &Conly (2) B &Conly

(3) A,B&C = (4) A & B only

Assertion (A) : North-east and north-west Atlantic ocean is one of the major fishing grounds of
the world.

Reason (R) :The warm water of Gulf stream and the cold Labrador current mest near
Mewfoundland.

The correct answer is :

(1) Both (A) and (R) are true but (R) is not the correct explanation of {A)
(2} (A)is true and (R) 1s false.
(3) (A) is false but (R) is true.

- {(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

DAISS (A) : Sy DO TCHS; BETFoMBE SIFHSIG0 (HHOB0S &8 1D
Soebys Blsbo,

TSmO (R) : Srroferiod S 66 R0 Sndy TR A B IS0

DHardrod feood.
DOTDRA RSSO
(1) (A) S8k (R) BOGr 2y SR (R) RO (A) H S0P Db 5.

(2)  (A) OV 2 DO (R) 0T &y,
(3)  (A) 3O Sy A (R) @O 2y
(4) (A) DO (R) DOty 2.5y <0000 (R) &R (A) %o SO A0,

P11
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113.

114,

115.

Examine the following statements :

A. Dr. VKRV, Rao was the first person to estimate national income in India before
independence. - -

B. Soon after independence, the central government appointed the ‘National Income
Committee’ to estimate national income in India.

C. Dr. V.K.R.V. Rao was appointed as the chairman of the committee.

208 wored H89D0G0d ;
A, ArssoERd oo rssBiod Adirordird)) eodar WS Docked 58
o V.KRY. o).

B, ;oo D)0 Soad rédafiod’ 2radirordird) ®odd Jahaws
arded D 50 ‘Fradirarah £l D dabodod.

C. e 52088 36,3 g VKRV, oo dobodagreh.

Choose the correct answer : / 8EDS a0 Jobl Babod

(1) A & Conly . (2) Bonly
(3) Conly (4) A & B only
Examine the following statememnts :

A.  Anil Sant is the Registrar General & Census Commissioner , India.
B. The ‘demographic dividend' term was first coined by David Bloom.

Choose the correct answer :

(1) Both A and B are incorrect. (2) Only A is correct.

(3) Only B 1s correct. (4) Both A and B are correct.
208 wored H870oted

A, 2rSSEEY AR RS 2458 & SR EASE: 8Rd Sod

B. ‘darrdl 40308 e Horl)/arad) S HErioded B8 g,
HOTHS BT JoDE Jahod:

(1) A &S00 B Bodr HOTAD &, (2) A S H0Todd.

(3) B Sred H0TodSd. 4) A BN B Do SOPISD.
Indicators of economic development include :

A.  Real Gross Domestic Product B. Real Per Capita Income

C. Population Explosion D. Human Development Index

E. More dependence on labour intensive techniques
208 AE' adsdSyd Hrdés' and ¢ D7
A, TUONE o BITrs 8 B. D &oiHs eordbo

C. a7r ddedo D. &rdd ediyg Hrd

E. |4 arode HgdhoR sLSom srdando

Choose the correct answer : / D8 220D JoDE Tabhod :
(1) C&Eonly (2) C,D&E only
(3) A,B,C&Donly (4) A,B&D only

Pll

el —— = e " R —
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116. Examine the following pairs :

Index Developed by

A.  Physical Quality of Life Index -~ Morris David Morris

B.  Gender Inequality Index - UN Human Rights Council

C.  Human Development Index ~  World Health Organisation

D.  Multi-dimensional Poverty Index — Oxford Poverty & Human
Development Initiative and UN
Development Programme

800 sded H8I0ot0s: .

Ard/drdE = 0 D300 TDS > E/H0d
A, Al A58 1Hdre Ard) - [roh 4D Dron
B. Ooffesdsrdes drds. - S &rdS i FRS/08d
(UNHRC) .
C.  SrdS @DIYe SrdE - (DHods ey Hod (WHO)
D. 2doardys w808 ards - e5E Ddo%o DB SrdS eDIHE

WOSC 0 )e/L3Gs (OPHDI) Sddh
.23, 8S5)Q |8 o (UNDP).

Choose the correct pairs/answer : / 83D 23ébe3d)/28720:5 008 Tahod :

() A&Bonly ' (2) B &C only

{3} ﬂ.CELDﬂﬂl}' (4) A&Dnn]y

117. Examine the following statements about demonetisation in India :
A. 7300 and T 1,000 notes were demonetised by the Government of India in 2016.

B. The Central Government announced the demonetisation move on the evening of November 18,
2016.

C. Declaring the currency notes as not legal tender indicates the demonetisation of those
currency notes.

EST¥0S’ S8 5L 555D B0t wore 20800508 ;
A. P8 |HZ0 50 2016 &' & 500 SO &, 1,000 SHicdhd & Hod.
B. ddob 18, 2016 =& Araho|do S 8 AGArR) Told 1H2be 10 1HEB0D0A.

C. 5B0) SR PP S 30 1HEB0DIph & D) Sk 8% wonseym

raord,
Choose the correct answer : / OTDS 372008 Jod¥ Fahod :
(1) A &Conly (2) B & Conly

(3) AB&C (4) A &Bonly

— —= e,




118. T-Hub is India’s largest incubator for start-ups and a unique public-private partnership between :

119.

120,

A. Government of Telangana B. Govermnment of India
C. IIT-Hyderabad D. NALSAR

E. Indian School of Business (ISB)

W80 % rESTIoST 88 DY RofuBed wand ‘8-55 fod ois' 34 NVaTS
BETS HDE- S 2Kt Soom 4o 7

A, Soors HZbheso B. 2rdes |520est0

C. o008 oo D. &S

E. 20800 ard ah A0 @0l

Choose the correct answer : / H8TDHS Barzned oY TaHod :

(1) A,B&E only (2) B,D&Eonly

(3) A,B,C&Donly 4) A,C,D&E only

Examine the following statements about the resolutions of the meeting of the ‘Monetary Policy
Committee’ of RBI held during June 4-6, 2018 :

A.  The repo rate was increased by 25 basis points to 6.25%,

B.  The reverse repo rate was increased to 6,25%,

C.  The bank rate was fixed at 6.50%.

Bzthys ergoto ) 18088 Do Eed Harddo 2 4-6, 2018 oos 28R0D. &
2SrRED SO o5 H020H0D 00 BOTLH HODOBA :

A, D Do 25 DD ronoty Dother 6.25 rsor Sfonocrd.
B. 835808 Bind 6.25% Terdi Dot ;
C. aryoso Béned 6.50% I oo,

Choose the correct answer : / DOTDA 2820 QoD Fabhod

(1) Conly (2) A&Conly
3) A,B&C (4) A &B only
Match the following :
Scheme/Yojana Launched on

A.  Pradhan Mantri Mudra Yojana i 9% May, 2015
B. Pradhan Mantri Jan Dhan Yojana ‘i 12 April, 2005
C.  National Rural Health Mission iii  28% August, 2014
D. Pradhan Mantri Suraksha Bima Yojana iv 8% April, 2015
08 40 BadSS0h

SPH¥o/Trms sSofio/aor &N
A, 1D oS S0 TreeS i 39,2015 -
B. [DFS D08 2 S Srasdd i eSS 12, 2005
C. 28dhrie el Das i estiiy 28, 2014
D. 155 Do ol D Trad v D8, 2015

Choose the correct pairs / answer : / 0TS 2805:5/83,2050 J00E Tchod -
A B C D

(1) i i il iv ¢

(2) i iii iv ii ,

(N v w i i

9 # iv i i
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121.

Besides Sachin Tendulkar, who are the other Indian cricketers who played more than 500
international matches (test matches, one day and T20 internationals) ?

A.  Sourav Ganguly B. Rahul Dravid C.  Anil Kumble
D. M.S. Dhoni E.  Virender Sehwag

Choose the correct answer :

(1) B&Donly (2) A,C&Eonly

(3) A, C&Donly (4) A, B&Donly

NAS WoMw 58" e, 500 ®osFTAD Irped’ (B Srichen, 28 S O
T20 &3 geioen) S RS 2rdaad 1§80 IS8 7

A, AEStorrd B. onod |10 C.  @&dd 507

D. MS. &2 E. DBosB ot sh

QOIS Barawsd JobE Fahod : :

(1) B0 D IMeED (2) A, CHOENE Sread

(3) ACHOWDImMadH - (4) A, BHOEHD Im&D

122, In February 2018, US Government approved sale of AH-64 E Apache attack helicoptors to India.

Identify the correct statements relating this approval : |

(A) Tutuluﬂmntudcmtiﬂﬁﬂmjlﬁnnmdth:pﬁmcmnmmfmthﬁuppm sale include
Lockheed Martin, Longbow, Boeing etc. |

- (B) Italso includes simulators, communication equipment and has night fighting feature.

(C) The estimated cost is $ 830 million and the prime contractors are Agustawestland and
Aerospatiate,

(D) * It will strengthen India’s ability to defend its homeland and deter regional threats,

Choose the correct answer : ‘

(1)  (A), (B), (D) only ' (2) (C), (D) only

3) (B), (C), (D) only (4) (A),(B)only

V2SO 2018 &' US |DZDS0 AH-64E Apache T WOTYIDH rESHTDE

ECVONEYE BHN80D0s. A8 JouohoDS DAadires 508 dI3Ssed DI

00 0r Emm : .

(A) & ad)od0 Tof; Ado oS SicHo $930 OAHS) HOAD S
©IT08 1D SOErid) : erEirS X708, ero), Sonoll SASSew.

B) =othd' erifor DINBOHD), EArIDEAS H050ven Hotrow. HBEL 2D oS
Je Ford o eren §OA Jodron. | |

© & ad)odo S Jvdo sodar Iioho $830 DOWWMS) DAL ADS
NOVOPONS NS TOErED,) : siPIReroS  (Agustawestland) OB
Qo RNTDES (Aerospatiate),

D) & 20060 &3 Jrdéy LA SVHRTIErIE Do |Frosch BEBOYLSD

. PSP SR DY) OISHIOA.

N RArTRTRonE Dabhod

(1) (A), (B) SH0akn (D) SM&M 2) (C), (D) SMSDH

3) (B), (C) 2B (D) SMSD @) (A), (B) IS

- : - - _ -

5 | e



123,

124.

125.

Who are the nchmttnpmruhmmnm:slnthnwmlduqumbﬁ 2018 list released in March
20187

(A) Bill Gates (B) Warren Buffett (C) Mark Zuckerberg

(D) Jeff Bezos (E) Mukesh Ambani

S8 20185 RSB §5)) 2018 2rDErS’ 1HH0B0S'N B0 H350HBS SwHdd
DHOHAD DS 7

(A) DSAS (B) oD &) ©) &Sl ars b

(D) 20T2D (B) Sofh eowrd

Choose the correct answer : / 8 aaransd Jonf Dahod :

(1) (A),(B)&(C) (2) (B)(C) & (D)

(3) (B),(A)&(E) (4) (D), (A) & (B)

In June 2018, Smt. Nirmala Sitharaman inaugurated 16 MW solar PV power plant at the Heavy

Vehicle Factory in Chennai. Identify the correct statements on the subject from the following :

(A) The plant was established by Bharat Electronics Ltd, Avadi, Chennai,

(B) It costs T 105 crores.

(C) It will provide green energy and promote Green India initiative.

(D) It also helps in reduction of sulphur dioxide and improve air quality.

Choose the cormect answer :

(1) {H] (B). (Cll (D) (2) (A), (C), (D) only

(3) 6') (4) (A),(C)only

235 2018 E;E-.:E DS heodnd ) IrEd) s, /S 16 Do Herd DD,

538 Fotndy 1rdoDodod. HRE HowodHod ﬁﬂ@:&& DS hiodod:

(A) & Totndd erdes JoIFTRE) OBLS, usdd, TS mm

(B) &arodw ‘::-tﬁmd & 105

© & Foan AS 2840 ﬁé;ﬂﬁ;n Djof SHbcikn (AS asndbds 65
L#éamaﬁ

D) 20 3035 3 aB)18:8 sfosdods’ HIE80N kg Sendrid) SHnod.

HOTA Barancd donE Babod

(1) (A),(B), (C), (D) @) (A), (), (D) &rigad

(3)  (B), (D) Sr&$d (4)  (A), (C) Sriehsh

A famous person, David Douglas Duncan was passed away in June 2018 in France, Which
profession does he belong to and what was his role ?

(A) Photography, he changed the role of war photography.

(B) He projectad the suffering of soldiers in Korea & Vietnam,

(C) He belonged to the era of World War I1.

(D) He died in August, 2018.

2~ 2018 &' |3rS) &' TS S0 $05S oF HErid HVD AV, SdD 2
35086 aodardh SHOCH) ad ) arih S ?

(A) oS o FEED) weS r.:ﬁ:a:gaﬁ H020H0DS rah Do Tody

B ETedgesesy Sromyd.
(B) & THADr Hdckn doherHe ' ‘ﬂﬂﬁ:t::- eredd G800 Tard.

() @ 25 Do dnge T,

D) @D eiiay 2018 ' SRS,

Choose the correct answer : / SOTS 220 oS Wabod
(1) (A).(B)only (2)  (A), (C), (D) only
(3) (A, (B),(C), (D) (4) . (A), (B), (C) only

i1
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126. 2018 Padma Vibushan recepients from among the following are :
(A) Gulam Mustafa Khan (B) A.Revati (C) Sri Krishna
(D) P.Parameswaran (E) Justice 5.M. Sikri (F) Illaiyaraja
(G) Fatima Sultana
806 0S5 2018 HE) DETRS (Hirebe 5% 7 - -
(A) Hhero S oS (B) A.Bs58 © 2189
(D) P. 3804 36505 (E) a0 SM. D8 F) adcbor
(G) Frddr oo '
Choose the correct answer : / QOGN Bar20Ad) ol Tabod
(1) B,D&F only (2) A,B,C,E&Fonly
(3) A,Dé&Fonly (4) A,C E & G only

127. On 14" June 2018 who became the first' ever Indian batsman to score a century in the first

session of the test matches and joined ranks of whom 7

(1) Shikhar Dhawan - joined Sir Don Bradman, Victor Trumper, Charles Macartney, Majid
Khan and David Warner -

(2) K.L.Rahul - joined Sir Don Bradman, Viv Richards and Sunil Gavaskar ,

(3) Murali Vijay - joined Clive Lyod, Gundappa Vishwanath and Sir Don Bradman

(4)  Virat Kohli - joined Sir Don Bradman, Victor Trumper, Majid Khan and David Warner,

270 14, 2018 T VY Sriche Fndidd DASST Dotd FAoDS Db rds

27 5€5,)000% 58D 7 ROSH SN0 & Desorr &8 THS D BoSTHAH 183¢5 275 1S

D Jo 1 o D087

() 20 oIS T, 8D FOS =der : H5 oS (288, DY 12036, 8
N5 (Charles Macartney), 32885 S 8050 TS 83 5.

2 528 o T, ad TI68 arder : HBarS 2SS, DS 638y SHbakn

20N By 5.

(3)  SwoP dadh T, add WS rder : 35 erahS, HodD) DTS OGN
A @S 1286, R

(4) Do) Far Tordh. @ N8 IS 1278508, DES 006, Sr2S oS o 08
38 arderd’ Todb.

128. Examine the following statements about the ‘National Commission for Protection of Child Rights'
(NCPCR) of India : .
A. It was set up in March 2017 under the 'Commissions for Protection of Child Rights (CPCR)
Act, 2015,

B. Itis a constitutional body.

C. The chairman of the commission is Stuti Narain Kacker.

D. The child is defined as a person in the age group of 0-18 years, "o
ESTD ‘wroo Fye 8§ o ar8ah SaS (NCPCR) 180 808 dS8mO0
H82Hotod

A, éﬂ: :I'ﬁ:z,mlﬁim #0 5033 $40, 2015° egrsor Sr8) 2017 & H dorién
. .

B. ad a8 oersof Hoy. '

C. & 500585 slel roraed 5.0 365 arraey . _

D. 0008 18 003 ore SHARMA)ES e S5Eerd areren (DLen)r A DotaA08:

Choose the correct answer : / O S 200 JODE Dabod :
(1) C&Donly " (2) A,B&Donly
(3) B, C&Donly (4) A&Bonly

PI1 s " 41B




129. Which of the following statements are correct 7 °

130.

131.

T ——— ey ey iy - e

PFil

(A) Anjolie Ela Menon was awarded "Kalidas Samman’ for Visual Arts by Madhya Pradesh.

(B) The Council of Scientific and Industrial Research (CSIR) was awarded National
Intellectual Property (IP) Award 2018. .

(C) Best actress award in 65th National Film Fare 2018 was awarded to Deepika Padukone.

(D) Navjot Kaur becomes first Indian woman to win gold at Asian Karate Championship.

80 ad8S vored’ HPSD D ? -

(A) SSIHBT 152010 wo'D qer WSS H DardSS @afHH HooHodS TITR
2 @G pvritodol.

(B) FS H6 DOBHE Hoain Rod|HaHd 8 (CSIR) Hop HadS 20LDE S8
58 2018 v rodod.

© 653 BAaSS DEHE wrHE add S8 PR Ads HLTN rodod.

D) @&l b TodaDSADS 2ord S0 HoDS TfRwdd Direm

Sa8%E T8 DDD0L.
Choose the correct answet : / O BT 20 LODE WAhOH
(1) (B)&(C)only (2) (C)& (D)only |
(3) (A) & (D)only (4) (A) & (B)only

Examine the following statements regarding New Development Bank (NDB) :
(A) China holds the maximum number of shares in the bank.

(B) The bank has no African nation as a member.

(C) The headquarter of the bank is located at Shanghai.

&g BIODH0S 274055 H02080D0 808 DIEHOX (®oTOD) H0IDOB0S !
(A) zrjo%eds’ Sar BHo K0 HogpsS' areren SO0 &od.

B) ®D POFRS HoRoHoNS  THo argoHd' JEhioren s,
(€ arjol B Herd Yoo rowds aod. |

Choose the correct answer : / 08 arzned dobs Tdbod :

(1) (©C)only’ | (2) (B) & (C) only

(3) (A)&(C)only (4) (A)only

Examine the following statements :

(A) Norway tops in the Global Democracy Index 2017.

(B) Sri Lanka banned import of non-airbag equipped vehicles from July 1, 2018.

(C) India built the world’s largest thermal solar plant.

(D) China sets 2018 GDP target at around 8.5%.

808 DHHGROD (BoTerd) H8Dot0s |

(A) ©O0STHAD (HRriN0g ArOE 2017 (DS GSw B DD Pdos od.

(B) =P -5%2:}15 008 F008 Jond rifien B FoTOdH OHHHE TTSa0)
&) &.

©) (DdohosS BN G685 Forb Frotnsd grialifo Ad0008.

D) ~ 2018 HOSS 505’ B 8.5% 2.4.9.0 AHoTrod SOBTT IV0d.

Choose the correct answer : / SO 22080 dons TWdbod :

(1) (B) & (C) only (2) (C) & (D)only

(3) (A)&(D)only (4) (A) & (B) only

] @B



132. Renowned social activist and founder of Sulabh International, Dr. Bindeshwar Pathak was

honoured in June 2018 with an award. Identify relevant statements from the following :
(A) He was awarded 23™ Nikkei Asia Prize of Japan.

(B) The ceremony was held in India.

(C) The ceremony was held in Tokyo.

(D) He was awarded 22™ Nikkei Asia Prize of Japan.

HEreS AIrAE DESIEO (soclal activist) SO OB BOLEIASS ok,
SITHErHBS o DoBE B >G5 2~S 2018 &' mﬁ oIPE ST, Rod
R0DOHONN NOTDN NAPGTH0 Benod

(A) 23 3 %D (Nikkei) ehdir |2 D 2578 & bgdoordh.
(B) & 5dgsio aoddirs dEtrodadod.

€ &esdgsdo &S 20n00.

D) 223 0%dD esdair el e 31S H D EdoTTw.
Choose the correct answer : / S8 2aT20 o JonE Tahod :

(1) (C), (D) only (2) (A (C)only

(3) (B),(D)only (4) (A), (B) only

Examine the following statements on 'Smart Cities Mission’ of India :
A.  The mission was launched on August 15, 2015.

B. The mission aims at strengthening urban infrastructure and give a decent quality of life to
citizens.

C.  Shillong, the capital city of Meghalaya has been selected as 100® Smart City of India in the
third week of June 2018,

D. The total proposed investment in the selected 100 cities under the ‘Smart Cities Mission’
would be ¥ 2,05,018 crore.

rSSEHED a8 ¢ AS K800 806 DI3Smers H0DoI0A :
A, S120335 15 S esfey 2015 b |rSoDodh.

B. S4n SrO8 (SyHT) Jdmdcresd H8Joc Idhdo HOG SO
s A ¥D 00580 & onS Bk, alido.

C. 2018 2@ T Hrds adodS roestidd 100 & a0 el ‘ﬂba‘.nrr:.-di} oA
S0 Dol JohE JFahadod.

D. ‘0 H8% AS S0 JodE Tahads 100 o Jwdo & 2,05,018 ¥&

2EP2AD |DHadrdHorh.
‘Choose the correct answer : / SO 2872050 Hon§ TWabhod :
(1) B,C&Donly (2) A,B&Donly
(3) C&Donly 4 A,B&Conly

P11
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136.

Which of the following jurisdictions are enjoyed by the Supreme Court of India 7
(A) Original Jurisdictions (B)  Advisory Jurisdictions  (C) Appellate Jurisdictions
Choose the correct answer :

(1) (A)and (B) only (2) (B)and (C) only

(3) (A)and (C) only (4) (A),(B)and (C)

808 8id H8A0S' rddEH HHo FHH 2 wHTTe) Ao ?

(A) R (d) irde wdss D06

(B) AoddB)edsd 506

(©) el srde efHss 06

RDA B Jons Babod

(1) (A) 0Odin (B) ez (2) (B) 8diw (C) Aretah

(3) (A) 2B (C) Sr&D (4) (A), (B) 8as (C)

Consider the following statements :

(A) China inducted its largest indigenously-built transport aircraft named as Y-20).

(B) Pakistan successfully tested its laser guided missile named Barg.

Choose the correct answer-:

(1) Only (B) is correct. (2) Both(A) and (B) are correct.

(3) Both (A) and (B) are incorrect. (4) Only (A) is correct.

L0 DGO (BoT o) HONdotiod:

(A) Do Do vdjosd DO H557 SAird JanbisDE ¥-20 D D D HTriodod.
(B) >BPS dachdoson HO8008 Bl AP RS 28 & D od.
OB 2eTened aons Wabod :

(1) (B) Sredsdh HOTHAS. (2) (A) SO (B) Bodsr HOTDSD,

(3) (A) HOGID (B) Bodr SOAD SR (4)  (A) Sr@sdh HOTSA.

In June 2018 Kerala initiated ‘Water Literacy' campaign to create awareness about the importance

of water conservation in the state. What are the correct statements from the following 7

(A) 70,000 students are involved. -

(B) Every student will campaign for 15 families.

(C) Approximately 10 lakh people will be benefited knowing the importance of water,
prevention of water pollution.

(D) Itis mandatory in Kerala.

Choose the correct answer : |

(1) (A), (C), (D) only (2) (B), (D) only

(3) (A (B)(C), (D) (4) (A), (B), (C) only

275 2018 & ‘DetE H0208008 VLTHS’ 1HTOR) DS D FnE;, (Eromes,
DAY DT FHL ©0 DACFOD BT Dodrodosardl B8¢ |H2hé o
I Bod. ADE Ho20H00 808 S’ HOTDMS DATFTR) BenHod :

(A) 70,000 08 doriden othd ISy 8.

(B) (D8 DR 15 NS BSMETSDH SONT,

(€) RArd 10 oo H0d 1Paew odiroderd. A oo A s (rdups,
AE8 SRl ATH0LH AGH0 BennTSch). ,

(D) E5¢ o oS AN &53008 T,

RO B JoDE Tdbod :

(1) (A),(C), (D) Sredd - (2) (B), (D) SMSD

(3) (A, (B), (C), (D) (4) (A), (B), (C) &rih3dh

Pll
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137. Which country will host the first military exercise of the BIMSTEC group focussing on counter

138.

139.

terrorism 7 When is it scheduled & what is the purpose 7

(1) Bangladesh; September 2018 in Beijing; To promote peace

(2) India; June 2018 in Pune; To counter terrorism is the focus

(3) Pakistan; in Aug. 2018 in Peshawar; To promote harmony

(4) India; September 2018 in Pune; To promote strategic alignment among member states

5 H¥0 BIMSTEC D.0.05.00.8.2.5 2yodok addio aNod. BIMSTEC 29050 &3

TAINGE DIE DTED0. A AHTGON |HBM Fabadh IR0, I & DTYN0

DB LrotatS0d ? HR Sup; aPio Hd ?

(1) 20788 DRoam 2018 & HackS adibéod; 708 Frodrodothtrsd
ﬁﬁ%mﬁmduﬁ |

@)  BoASKTS: oFab 2018 S RS aiTchos HBT SHotadod.

@) >EXES ¥l 2018 & DAIES" DS DoFodoherd afiotndod.

(@) oA, Wyond 20188 S adhdHS s HHBre DG§ FTrds
DE5H05 Dodrodothth afftodadod.

Which of the following statement/s is/are not correct ?

(A) India celebrates its “Mational Sports Day' every year on 29 August.
(B) Dhyan Chand was the only hockey player who got Padma Bhushan.
(C) Arjuna Award is given for the best archers.

(D) Dronacharya Award is given for brilliance in sports coaching.

808 DiSpod (@orodHHosRO/D AO/D T

(A) 2r8SEH0 158 2058150 29 Bl erach Sar A8 ySom 20008,
B) SS0& HELTAS rods 288 I forsda.

€ @S @ &rdhd DensoQsy AN,

D) |Teord;esds add ot hodh agd.

Choose the correct answer : / 5 RSFEFRrR) aons THahod ;

(1) (B) & (C)only (2) (C) only

(3) . (C) & (D) only (4) (A) & (B) only

Who has written the book “Conflicts of Interest: My journey through India’s Green Movement”
and who published it ?

(1) Salim Ali, published by Pearson

(2) Tulasi Gowda, published by McGraw Hill

(3) Ramesh Agarwal, published by Printice Hall

(4)  Sunitha Narain, published by Penguin

Tl 6D F0(BR: D 28) 1€ 20AATR (AS SrSTodl' D @oli YT JSE
E000rd 7 Sbdin 2 1Dchdotrdh ?

(1) SSowd HO% ad), |Hchde L8 HAHBIHS.

(2) Sodoné do TE, |Hhden 46 Doyrard.

(3) 5300 elor s SOHOSM, (DoMD IS |Hhdodod.
@) oo Frdond o, Do Hcbhbodob.

P11
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140.

141.

142.

Examine the following statements about Gobar Dhan Yojana :

(A) The scheme was launched on April 30, 2018 in Kamal, Haryana.

(B) The scheme aims to positively impact village cleanliness and generate wealth and energy
from cattle and organic waste.

(C) It also aims at creating new rural livelihood opportunities.

Aol ol Srasm $0d vorosh H090odod : .

(A) oS’ S0 SS DS 30, 2018 T & He¥o |Prdodotdod.

(B) |mine HOHBSD |HarSS Srddodarenm; Hhyen H8dAH Dodad Sigre
508 HoDBL, T0tS0 #H adye Tohdo & HPEo afor EPHod.

(€©) |Mhoe ASS'DAE Srédd wsTTod Hynot of jof & HE¥o HATVOD.

Choose the correct answer /38 237200 oo TWabod :

(1) (A)& (B) only (2) (B) & (C)only

(3)  (A) & (C) only (4) (A)(B)&(C)

In May 2018, RBI put Dena Bank under ‘Prompt Corrective Action’ (PCA) which focuses on the
following aspects :

(A) Cannot sanction fresh loans

(B) Barred from recruiting more staff

(C) Cannot disburse loans already sanctioned .

(D) Dena Bank is first lender to face curbs under PCA

H Be 20185 B er5050 (Dena Bank) & 8288 2rjof Bro 5DES AirdS (.R.)

Heh 28 Darde By HOAS' oD0d. & 585 20d DAdired' B Syn Rhdod ?
(A) TS 200 o™ TALo .

(B) Fémr afiiyed 238Tcdhdo dadodadod.

©) 2OISE 2000 o2~ ®oSS) tnsod! averead Hodbd (Ddde) Babord.
D)  Héb 1% Darddes 6 (Broy EBES airs S) o Hor a0l Dt 2o dod.
Choose the correct answer : / 28804 2208 JonE Dabhod

(1) (A), (C), (D) only 2) (A), (B) only

(3) (B)(C), (D) only (4) (A), (B), (C) only

Indian Government launched ‘Gram Swaraj Abhivan - Special Interventions’ an outreach

programme. Identify the correct statements from the following :

(A) The outreach programme is to deliver welfare schemes to select villages.

(B) The objective is to see that social harmony reaches to the poor.

(C) Doubling the income of farmers.

(D) Itis applicable to every village and it should be implemented immediately.

2rieh D2 10 “Imed D107 eddirS-)nd 2oLANS)” 0 af 0585 | mrod

Erdododod. HJ8 HowodHod Lod F8E" HOPS ddrerdosh HBotod :

(A) & 0938565 S roen (EgEersom) AFFoIAS (mére [@Fdbi ) aFiod
B0y HéH¥oerd esSenddcing,

B) Addog; $Fio ardrad AT meosd ek Ty,

(€) Beéve mcrdbo O shedEyso Sawe.

(D) 28|38 MIrd8 afiodadod HBW HAN I sdor wdhen Taird.

Choose the correct answer : / OGS DAFPTarR) Wond Dahod :

(1) (B), (D) only : (2) (A), (B), (C) only

(3) (A) (B), (C), (D) (4) (A), (C), (D) only
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143. Examine the following statements :

(A) Roger Federer, tennis player, reached the men's world number one ATP ranking in tennis
after winning his 98" career singles title in May 2018.

(B) He defeated Rafael Nadal in the Stuttgart open final held in May 2018.

(C) 36 years old (As on May 2018) Federer born at Basel, Switzerland.

208 DIGRON (@ored) H83Dotoh

A) LD dasdd Hab DAESE S5 98 S 385 BoAS) RBSH H 2018 &
Aenchfod, LAY HE' HHHe (HHo Soad 1 ATP orgolofichd Ardomrd,

B) 2018 & 2883 P00 L DS DIB JreSS DS Ao S0 LdoTd.

€ 36 HoISyore (3D, 2018 738 ASE LT OSSN erddS' ad0ord.

Choose the correct answer | / 0TS BI20D DODE WADOH :

(1) - (B) & (C) only (2) (A) & (C)only
3 (A),B)&©) (4) (A) & (B) only
144. Examine the following statements : -
A. Gujarat Forensic Sciences University (GFSU), Gandhinagar is the first Indian university
dedicated to forensic and allied sciences.
B. It was established under public-private partnership.
C. J.M.Vyas is the Director General of the University.
D. The University was established through an Act passed by the Gujarat Legislative Assembly,
dated 30® September 2008, .
E. However, it became functional from July 2010.
208 DIGROD (BoTeD) H0¥DoN0S :
A BAE DO SHD0E PAOSH ©ofSIDAS IR roach
DELDCrIOGH BT S PBIE NS RS y¢8, modSnd’.
B. (3408 R3S orirsgod’ & D sdorodho Praodadod.
C. JM.arsn & D¥sderieocirDs BoED 23588m aary .
D. 30028 30,2008 & heos 1w 5255 4o Tahdo o som & chrlsd 40 Frhowd.
E 0@ 208 2010 Hod & dhrdso ¢ Hdd3cbdo @rdododod.
Choose the Incorrect statements : / DOER IS JODE Bahod :
(1 A,C&Donly (2) B &Eonly
3) AB,C,D&E 4) A,B,C &E only
145, Examine the following statements : '
(A) Total number of gold medals won by India in the 2018 Commonwealth Games is 26.
(B) Polish author Olga Tokarczuk awarded ‘Man Booker International Prize 2018,
(Cy Total number of medals won by India in 2018 Commonwealth Games is 64,
(D) Pellichupulu won the best Telugu film award under regional category in the 65% National
Film Awards.
808 sorod H030otos
(A) 2018 25338 808’ orsatiio Ando 26'Domrth Hesed TenhEod. _
(B) B8 Sdonsd Lo Ler S'EHIEH SrSwEd wosTadh eI 2018
- sodTdbhadod. - -
© 2018 50358 $aS° arsadiio Indo 64 HebTerd AenchTod.
@ 65 % JasS 5G; erdyS |Dodich dardos ) dryen’ JSo S
Do sl fencuFod. .
Choose the correct answer : / D 272060 Q0DE TIAHOA :
(1) (B) & (C)only - (2) (C) & (D) only
(3) (A& Monly _ @ @Wwe®ony
Pl1
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146.

147.

2 6 1
200, 1665 , 1425, A1
) 128 @)
@ 1122 : @)
MGIX, LFHW, KEGV, __ ICET
(1) JDUF J 2)
(3) JUDF . ] (4)
V2SLWI6G,X9E __ " .Z1A
(1) Y4C (2)
(3) U4C (4)
- -]

149, 7, Ia,ﬂ‘?,ﬁl, . 127
(H 111 (2)
(3 91 | @)

150.

Note ; In questions 146 to 149, a sequence of numbers or of letters of English alphabet or of both
following a particular pattern are given with a blank. You have to pick up the correct choice from
the four options to fill the blank without disturbing the pattern.

DS ¢ 146 0D 149 J85 o 1D 08 Hopiw edHEDom), Bor wolf widare
&'0 wEoe BeHED0 TR B & Bolods 5rdd edhomd uE D3 HPD

00 )5S 1ESrR8 Zoko Bloar .8 oY) HodE TWaird,

The missing term in the following picture is :
&1 1808 HdAeS' S'DoDS HEIW :

115

135

JDFU
JFDU

W4 C
Y3C

101
121

& 620 &

(1) 120 (2)

3 250 (4)

1

240
60

SHHOOD AT ow. 80HS 2.8 5T 208, 8 YR JFrooitrds §od 2)S END

=

;|



151.

152,

153.

Given that 25° April, 2012 was a Wednesday. Now, match the days of the week given in List —
IT 1o the dates of that year given in List -1 :

List -1 List = IT
1) 29" June (2) Sunday
(i) 15" January (b) Monday
(iii) 11% December (¢) Tuesday
(iv) 25" October (d) Wednesday
(¢) Thursday
(f)  Friday
(g) Saturday

2012 & D0SS60 JDHAHS 258 BS &80 B AT, A, @ Jolsyses'
DE - 1S A0S BdOS' 3OS FSoed rder -1 & 2étichod.

aDer -1 Do -1
(i) =529 (a) adICO0,
(i) 2353815 (h) Sayrdo
(iii) Ao 11 (c) Svonigado
(iv) @S2 25 (d) ad>rdo
(e) Haso
H . DE;S0
() #dAS00

The correct matching is : / OGS &G :

(i) @) (i) (iv)
(1) a ¢ e
(2)
(3)

(4)

o o 0 o

d f
c =
b a

c
a
e

The time between 7:00 to 7:30 such that the hour hand and the minute hand of a clock are
perpendicular to each other is

%8 BACroosS’ 700 ol 730 HGS AMare Soew, fote Jwuey SrFEe

&020™ o8 Sadudbo

i) o]
(1) ?:EZH (2) ‘?:ilﬁ
(3) 7:21% (4) 7:21}3
The next term 1n the senes : 3, 6, 18, 90, 630, _
363 3, 6, 18, 90, 630, & &od H5Aw
(1) 5670 (2) 6670

(3) 5970 | 4 6930

P11
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154,

1585,

156.

157.

0.0

Note : In questions 154 to 157, you find a question (Q) followed by two statements (S, and S}

You have to determine whether 8, and 5, can answer QQ, Mark your choice as

(1) if S, alone is sufficient to answer Q.

(2) of 52 alone is sufficient to answer Q.

(3) it S, and 3, together only can answer Q but neither 8, nor S, alone can answer Q.

(4) if S, and 3, together also cannot answer Q and additional information is needed to answery{

Ared @ D)0 154 D048 157 05 206 28 (H9) (Q) T Jo& Doty (Hdedaren (8,

00D §,) cirddich). & 5, 5, © Hod Q § HArEdo TaY ScH)YTIr wd Db

oo, Q & AArodo @ erns

(1) 5,28 08 » zsow (1) .

2) 8,28 500 & s (2) 0.

(3) S, S, o0 Bodr EDH JHerdr, TS D 2.5 ¢ Sressh Hosrsot b aaw (3) @

4  S,. 5, « Dot 5O/, N6 Todd &SP AArordsDSdto woand, & 2a 4)
e Hiood, 4

() : For integers'*a” and *1'?_ is a + b an even integer ?

S, raiseven. '

S, : bis g multiple of 6,

Q: a0 ‘@', ‘b’ o a+ bl S8 Tolsr ?
5, : 20 dowy,.

§,:b XA 6 Q) hduo.

Q : What is the average of a,, a,, 35, 8 and ag ?
3| 14, a,, 84, 8, and 4, are consecutive integers.
S, :ag =100,

Q:ay, 8y 8y a, i QOO0 JO ?

S| 12y, 8y, 8y, 4y, 25 OO IO FFOSTON.

S, 1 as = 100.

Is xy=uv?

: (x % of u) = (y % of v)

'y % of u) = (v % of x)

XY = uy O 7

:-'-'-';.':"; Eﬁ'::?: (v Eﬁ;&%{l

S S yH)=(xS"v%)

(2 : How much money is there in the bag which solely contains 50 ps, 1 rupee coins 7
S, : Total number of coins is 521.

S, : Twice the number of 50 ps coins exceeds that of 1 rupee coins by 127.

Q: 50 Do), 2.8 drarow T Ho® SMEDH 5D 2.8 HodS'Y SsDoos 7
5, : G0 TR Doy 521.

S, : 50 RO EO SoghHise Do, Sraraw T EO Doy 55y 127 ).

P11
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Note : Study the following table which gives the production of two types of vehicles by an
automobile company in five years. Use this to answer the questions numbered 158 to 161.

= Ardd ¥ eSPS S0 @) T Dot S50 TR SO, P
DOSS YT OH JoOHOND VAT BOD 1808 HGED eHiohdo Tavod. &)
STTHOW 188 o) 161 HEB e (DI o8 asarandaing.

Year/Rod& 00

| |
2012|2013 | 2014 | 2015 | 2016

|
TypeA 1169 126 iﬂ.ﬁ 148 [16.1 |
L. TypeB 254|188 |11.2 | 162 | 184
158. By what perfcent the vehicles of type B produced are more than the vehicles of type A in 2014 ?

2014 &' &8 wand B 8%0 Trare Sopg olf José 808" & E wand A S%o
T OS50 DO T A0 IS T

1 152 2) 165 3) 17 @) 145

159. The ratio of number vehicles of type A produced to that of type B in all the five years is
2030 D0SS 10" A 18 BONM A THR® HoPEY, B S50 TS HopSr fo XS
(1) 2:3 (2) 7:9 (3) 9:7 4 3:2

160, The percentage decrease in the production of type A vehicles in the year 2014 to that in 2013 is
2014 3 oSS 50 I8 @S A §50 ST dows 2013 & &)Y eond e
B850 arirare dosd' fnd o

(1) 21% 2) 19% () 1

! 21
161. The total number’of vehicles ced by the company in the year 2015 is

2015 & DS80S SO dres )8 éﬁrﬁ Ao FFTe Homy

(1) 20,800 (2) 31,400 (3) 35,500 (4) 31,000

162. On 8® February 2018, it was a Thursday, Then, what was the day on 8% February 2017 ?
(1) Wednesday (2) Thursday (3) Friday (4) Tuesday
8 (250 2018 & HDIE50 9aNSE 8 )H, 8 PBSO 2017 & ewons B
(1) 20QaT850 (2) HBardadn 3) HE>SS0 (4) Soltardsn

163. The average weight of three persons P, Q and R is 52 kg. The average weight of P and Q is 45 kg
and the average weight of Q and R is 48 kg. Then, the weight of Q is (in kg.)
S0P S58en P, Q OGN R © Hidn 2y 52 85" mswen. P H0c0 Q © Hien
2803 45 85" |rinen. Q HBC5N R & JHfen 28 48 88" rlnen. @, Q o)
2HJ @S rdned’
(1) 36 (2) 44 (3) 48 o 4y 30

64. A train travelled at an average speed of 100 knvhr, stopping for 2 minutes after every 75 km. The
distance travelled by the train is 750 km. The time that the train takes to wavel this distance is
(1) 7 hours 26 minutes (2) 7 hours 10 minutes
(3) 7 hours 12 minutes (4) 7 hours 48 minutes
2.8 Den Hen Fo (De Hosrdh 100 8.2, (HATAYS, (D8 75 §.00. &rdo Soh Bot
QM) @hdéod. & Den Moo 750 L. Srdsn |DAFSNOD. & Srdo
(DAIPBoBErS & Ben 8:0505) DSooen .
(1) 71050.26 . (2) 7450.10&.

(3) 780128 (4) 780.48 .

@ 23

eSlia
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165, In a code UFBDIFS stands for TEACHER, then the code word for PARENT is

166.

167.

168.

169.

170.

2.8 ¥4 2radS’ UFBDIFS &8 TEACHER 3709, @ 270¢S’ PARENT 8 88 Hdo
(1) QBSFOU (2) RBSENU (3) QRAESU (4) QSBOFU

In a code language BHARAT is written as GZIZSY; and INDIAN as MZRWMR. Then, the code
of POLICE in that language is

o8 €8 2raS' BHARAT D GZIZSY b, 08050 INDIAN 2 MZRWMR e (3.
©Hh & S’ POLICE 3w, ¥8 AT

(1) VRXOLK (2) VXRLOK  (3) VXROLK (4) KLORXV

Note : In guestions numbered 167 to 170, you find a pair of words or numbers or letters or a
combination of these which have a relation between them and a word of another pair. Identifying
the relation between the words in the first pair, you have to pick up, among the four options, a
word which has the same relation as in the first pair with the word given in the second pair.

Brcd : 167 oA 170 SO o D) od o8 Jonoso &S 2K a8 dSoren, TS
Homien T8 oo TF DS )88 5rAd ade), ®20:508 HTE 28 S 2.8 HSo
SrdSth) Dwcded Bsdore g HowoR) Wlod, Bod 2dS’ adyd Hordl o8
5020050 50 HERY ADIS T DT HOD 2.8 TR HoDE Faird.

DOCTOR : DISEASE : : SHERIFF :

(1) CRIME (2) DUAL WAR
(3) MURDER (4) THEFT
2ok : Bo: : b

(1) o | (2) &508 dw@o
(3) aredg 4) &Soliéddo
20:21:: N .

(1) P 2) O

3) M 4 Q

RED FORT : DELHI : : ROCK GARDEN : _ _

(1) CHANDIGARH (2) CHICAGO
(3) BENGALURU (4) AGRA
ST : 6D E MBS

(1) Sodnd 2 sf

(3) Tolitoerd (4) e

AXE : WOOD : : SCISSORS : ! -

(1) CLOTH - (2) PLASTIC
(3) IRON (4 PENCIL
QO ; Ty :: 584 :

1 a8 | 2 Y8

(3) @S0 @) DAY

P11




171. Match the following :

172,

(a)
(b)
(c)
(d)

List-1

Vicar-ul-Umra

Kamal Khan
Salar Jung - I

Mahboob Ali Khan

1808 ¢8R BSHETLSY :

(a)
(b)
(c)
(d)

The correct match is : / SOZToS 236
(@ @® (@ @ |

(1)
(2)
(3)
(4)

erder -1
NS5 - S -y
g5 gra
arerl zofi-1

Sdarard ed grs

v
i
v

m

1i
v
ii
iv

1
i

11
i

1l
iv

List-1I
Purani Haveli
Falaknuma Palace
Diwan Devidi
King Kothi

avder -1

DR TR

28 e 2@
B Bad

2ol '8

Match the following officials and their duties in Nizam administration :

(a)
(b)
(c)
(d)

(a)
(®)
(©
(d)

List -1 List - IT

Deshmukhs Revenue Contractor
Sarbastadars Revenue Collector

. Sadr-us-Sudur Civil and Criminal Administration
Quazi-e-Subah Eccliastical Department

(Bosie D20 FOSSE'D BOTHON, 0 ®OST O 238088 ;
ader -1 wder-11

B Snden D& so|erEs
Sbanordd BD&Ar; 85
HE5-ER-0H5 DS Bcin ESSE HOreS
- N EERVER 4 G g2y TR

The correct match is : / OQIS 2368 :

()

2
3

53-B



173. On which date the “Telangana Sayuda Porata Committee” withdrew its armed struggle 7

(1) 21* October, 1951 (2) 4™ August, 1951
(3) 20® January, 1951 (4) 15% December, 1950
Beorre A Do SA $8 o Hoverd) D BAS DEDOHEIOS ?
(1) 21 e¥d, 1951 2) 4en%, 1951
(3) 202358, 1951 4) 1547025, 1950
174. When did the Nizam government lift the ban on Hyderabad State Congress ?
(1) March 1946 (2) June 1946
(3) July 1946 _ (4) February 1946
=péorared R oD DDS) ARor) daro (HZH 50 JPh Sofodod ?
(1) &rd)1946 (2) 2~ 1946
(3) D196 4) | D0 1946
175, Quazi Abdul Ghaffar, whﬂyapmtedﬂmlndian:wmmtnhnutthcmminﬂfmmd
State after police action, worked with which of the following newspapers ?
(1) Raiyyat _ (2) Imroz
(3) Hyderabad Chronicle | (4) Payyam
rETE DRSS FOD 365 esosdo 200 PSR WIETY), oS N sDs
BOHEDS Srd 2 #ar8 HEYLS) 1206 O HAES HAF oD T
(1) Ddbé | 2 aErd
3 Towd |ES 4) ardhed
176. Mahalga Bai Chanda was a famous court dancer of which Nizam ?
(1) Nizam Afzal ud daulah "~ (2) Mir Mahboob Ali Khan
(3) Osman Ali Khan (4) Nizam Ali Khan
D Do oo Hdfosaron Soor oe S8 Hotd ?
(1) Do spd &l Ber @ S8 2rarS edpd
(3) amSed S (4) D20 0TS
P11 .- o . [B - 5
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177. Assertion (A) : A gentlemen’s agreement was signed between Telangana leaders and Andhra
leaders in February 1956 to merge Telangana and Andhra.

. Reason (R) : Accepting the merger proposals, Andhra Assembly passed a resolution on
November 25, 1954 to safeguard the interests of Telangana.
The correct answer is :

(1) Both (A) and (R) are true. (R) is not the correct explanation of (A).

(2)  (A) is true, but (R) is false.

(3) (A)is false, but (R) is true.

(4) Both (A) and (R) are true. (R) is the correct explanation for (A).

DBASS (A) : 1956 S D2SOS Boors, wold rodsned Do Fobharns
oy |2roEre ordDBoen 06 2.8 R ey L5000 0808,

P20 (R) : DI DBIHTH08 wofSdr eold T TOS D85 1954 HoSS 80
SS0 258 Boorn |Pe eIV O S SE e 101038 H00D08.

RO IR0

(1) (A) «00dw (R) Dodr Q. (R), (A) 50 1B S8 stk

(2) (A) Dz SR, (R) Sy,

(3) (A) &3y 50, (R) dzsadw.
(4)  (A) B0 (R) Bodr Qzsain. (R), (A) %0 A0S e,

178, Identify the pair which is not correct :

(1) Telangana Vanchana Dinamu = - 22 April 1969
(2) Telangana Pathaka Dinamu ~ 12 July 1969
(3) Telangana Porata Dinostavamuo —~ 7 March 1969

(4) Telan Korikala Dinamu - 1 May 1969
1808 S IO HOTS B & HBohdw.

(1) SO SIS Eedednd - 22 QD 1969
(2) Swomr Hrs a0 - - 12278 1969
(3) Soors Sford ASE330 - 7 A8 1969
4) SBoores Fote Hdsw - 131969

179. Which one of the statement is not correct regarding Boodhan movement in Telangana ?

(1) To distribute the gift land collected under Boodhan movement Vinoba Bhave established
an association called ‘Boodhan Yagna Samithi' and Ummethala Keshava Rao was
appointed as its Convener.

(2)  The second trip of Vinoba Bhave started in 1954 from Ramannagudam of Khammam District.

(3) To support Boodhan movement, the students organized a procession and also held a
meeting at V.V, College on February 6™ 1956,

(4) Acharya Vinoba Bhave started this movement and started his tour of Telangana from
Shivarampally village on 1951, April 15%. :

808 DSBS BLOMErS' oS &t iardd H020H00 HOSDO DA 7

(1) ZrorsS arddgedo orjoe DES0DS Hrind ordo ThbodhE FreeS aba Ha'
8 H0PDH FTH0D A Se> TS50 D 558 dohoor.

(2) dSererd Dodd Frord e dirle Poo AL TS B0 od 1954 &
Erdodotrdh. ‘

(3) P &OiSrds Qs HIBNB, 6, 1956 & Doryden 2.8 @BAOHGD 26D D.O,
rH8 sl5028 22508 HHD NSO,

4) & &SEETY) 8ord; dSererS (rdodocrdh. 15 DS 1951 & eahS FSoodd

00d oo S8 |ardodoord.

P11 [s] 55.B




180,

181.

182.

Match the following authors with the books they wrote

List-1 List - II

(a) Allam Narayana i Telangana Jaitra Yatra
(b) Ghanta Chakrapani ii ~ Pranahita
(¢) N.Gopi iii -Salam Hyderabad
(d} P.Lokeshwar iv  Thangeti Poolu
1800 Srdondden, 30 SO addEih.

ardé -1 dé -1
(a) ®&YOoToCLR i A0 B i
B) Doty HErd i  |reerd
(€) & D i  Sero Irdorartd
d 5 S0 iv  Sofed syen

‘The correct match is : / QO 236

(@ @ (© @
(1) i @i i iv
2 v @ @i, i
3 i i iv i
@ i i v il

Match the following persons with the places of their martyrdom :

List - I List - 11
(a) Yadi Reddy i Shastri Bhavan, New Delhi
(b) Sri Kantha Chan ii Ambedkar Statue, L.B. Nagar
(c) Yadaiah m 0.U, Campus
(d) Ishan Reddy N.C.C. Gate
1800 0 DY, T g:x.m@ss- SBE 38dHSchsm,

ader -1 Do -1

(a) oird B i PR BSS Srad
(b) %o 8 i 0B dro, 8.8, &1
€) Cr&oby fii  4.050. 5030
(d 2arS e iv ot fed

The correct match is : / O 236
(@ @®m )

(1) 1 i iv i
(2) i il !
(3) iv i T 111
4 i i v n

On which date Telangana Praja Samithi decided to change the scope of its organisation from non-
political to political body ? .

(1) July 1970 {2) May 1970

(3) April 1970 (4) June 1970

B0 (D2 DS S50 HoPD D 2.8 oralad doPrr 1HEBoDOS ?

(1) 81970 (2) H1970

(3) DS 1970 : (4) @~51970

Pll
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183. Which one of the following statements is not correct ?

184.

(1)

()

(3)

(4)

Article 3 of the Constitution Parliament may by law form a new state,

V. Narayan Swamy was a special invitee for Group of Ministers (GoM)

On July 20® 2013 Congress Working Committee passed a resolution on creation of
separate Telangana State.

On July 30% 2013 the Congress leadership constituted a committee headed by
A. K. Antony to talk to all Congress MLAs and MPs from the State to explain to them why
C.W.C. had passed the decisive resolution on Telangana.

1808 A0S T IHSS OB HODIS e 7

(D

(2)
(3)

(4)

afid 3 |O58dn ardThotnd ¥ u*:_qmueﬁa QO DoharRs
8H50anotnod.

IS @D oAPRE) (GoM) 5 D. T O CHEPLN (H&gE el Deboch,

588 Beoornd DEIBISBID SR SEVT Y 380 2~8 20, 2013 & .8
80788 Fhod.

SOITR DD 20 HOCHH J.d O SoNR BT ::t;,'u:: SO0
A2cHoS AoHH APcho A% DSBoNTIE Toih FTahESo o8
@0&'D B8 &S 2.5 AR 7B 30, 2013 &S ACHDODOA.

Match the following political urgnmsauuns with the names of the founders :

(a)
(b)
(¢)
(d)

List - I List - II
Nava Telangana Party i Indra Reddy
Telangana Sadhana Semithi  ii  Nagam Janardhan Reddy
Jai Telangana Party iii  T.Devendar Goud

Telangana Nagara Samithi iv.  Ale Narendra

& 808 orafoh HoPen, AR FHoDS TN adHEHaw.

(a)
(b)
(€)
(d)

(1)
(2)
(3)

Do -1 e -1
Do) BOOMER g i =00
BOOME PGS Db i o asds B
2 8o rQ iii &8 HJosETS
BOOMPE SHE JHNS iv @8 38015
The correct match is : / DOQD 2368 ;

(@ ® @ (@)

il i iv  iii

iv @ i i

i i v i

i v i i

4

Pll



185. Match the following :

List -1 List - IT
(a) Baindla i Jamidika
(b) Budabukkala ii  Dhamaruka
(c) Padmasalai iii  Sadanasurulu
(d) Koyas ~iv RelaDance
18od el addHd .

List—I List - XI
(a) |Bod i 2a0CHE
(b) andang)e i Gehhh¥o
© DO  di DS arthen
@ goHen iv  Ber Sy

The correct match is : / OToed 2366 -
~@ (b © (@

(1) i iv i i

@ i i i v

@ iv i i i

@ i v i b

186. Which of the following statements are correct ?
(A)  B.S. Narayana Rao directed the film Nimajjanam.

(B) Shyam Benegal was the producer of Nishanth.

(C) Oka Oori Katha cinema was directed by Mrunal Sen.
(D) Maa Bhoomi cinema was directed by B. Narsinga Rao.
£0d IS5’ B PSS ?

(A) DN ToOHL 07 DHBS0 HRST S8 %0ch.
(B) Qarod RST Dovyes 50 BSHS. .

(©) 25 M0 5 DI G50 Sy dS HS.

(D) o 20 DARST 850 D. SEROK T°,

(1) (A),(B)&(C) (2) (A) & (B)
3) B&(D) (4) (A)&(C)

e - - - e -

- _ &



187. Match the following :

List-1 | List-II
(a) Ikat i A dance form
(b) Teez ii Festival of a tribe

(c) Paya iii- Technical knowledge of colour printing on cloth
(d) Perini iv A special dish/soup of Hyderabad

1S08 T3 B85S,

e -1 arDee -11

(a) =ES i a8 g SPrR0

b) &F i 28 NO2S B Hodks

(@) D i oD Sohed of Arolal HaYo
@ DOS v ErSoercs Dobs 2.8 (HEsE Sot¥o
The correct match is : / HOTDS 236 :
| @ ® @ |

(I m 1 i v

(2) @i ©  iv  in

3) i iv i ii

4) iv il 1 1

188, Match the following :

(Temples) (Places)
(@) Keshavaneni Temple i Gangapuram
(b) Taraka Brahma Temple i Alampur
(c) Sitaramaswamy Temple iii  Dichpalle
(d) Ramalingeswara Temple iv  Nandi Kandi
£0f JrdlR) 285565,
(Bedbsnen) (15 EF ¥ Saewn)

(a) B4S D awedhaw i HomaySain
(b) =S (20530 sodDAD i
(€) T TR 8ecHE i ASHD
) OSHOORH S sodHIN v Sod fod
The correct match is : / DOTDeS 2368 :

@ ® @ (@

;
!

() 1 u i v
(2) i v i
(3) i i v 1

1 m  iv i

(4)




189. Consider the following staternents and select the correct answer :
(A) During Satavahana rule agriculture was the main source of the income.
(B) Half of the agriculture produce was collected as land tax. -
(C) Early Satavahanas followed Vedic religion.
(D) The later Satavahanas patronized Buddhism.
1808 orgped HOVD0D JD M JAPLFSADAD EMesn :
(A) TEITDO 008 HISTCH0 BErdirds 1N egrdo.
(B) S1Sarad dreb 186’ Hifo 200 Y Sdren TRrd,
(C) SO rdardHen 268 HER) edhddoor.
D) SO réTirden T PLER) SFNOTE.
(1) (B)&(C) (2) (A), (C) & (D)
(3)  (A),(B),(C) & (D) (4) (A)&(B)

190, Assertiom (A) : Satavahana society was patriarchal in nature.
Reason (R) : Some of the later Satavahana rulers used their mother name as prefix.
The correct answer is :
(1)  Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(2)  (A)is true (R) is false.
(3)  (A)is false (R) is true.
(4) Both (A) and (R) are true and (R) is the correct ﬂplanauun of (A).
PSS (A) : TS Dadr2o Deb)y g S ersd EHASS.

rdedn (R) : Todhod DTETrd Toren S D% Lot &0
gadirfocr.

ROFTDA AATENO0
(1) (A) HOG (R) Bo&T A0, S (R), (A) 50 DD D35 5.
(2) (A) D20, (R) Sisy.

(3)  (A) &y, (R) daso.
(4)  (A) 80 (R) Bodhr deazo, SH8ain (R), (A) % HDM Dides.

191. Match the following : -
(a) Nanaghat Inscription i Pulomayi III

(b)  Masik Inscription ii  Kharavela

(¢) Hathigumpha Inscription ili  Naganika

(d) Myakadoni Inscription iv  Goutami Balasri

208 D 285505 ;

(a) ARl TR0 i ardse syreSeiran

(b) RE NSO i e

(¢) MO TRNO i TR

) SrEED TdSo v e arol
(a) (b)) (c) (d) ‘

() v dii i i

(2) i i i v

(3 i i i v

@) i iv @i i

1., ' [? o 60-B




192. Consider the following statements with regard to Kakatiyas and select the correct nmwer :

194,

(A)  Agriculture was the main profession during Kakatiya rule.
(B) Forests cleared and new areas were brought under cultivation.
(C) Land Revenue was collected both in cash and kind.

(D) ILrrigation was not given importance.

FESCOKH HOVOSOD (S0 TLET O HOIOOD BB SSTTEIDD EOMHS5 -
(A)  SEAANO O0S" JSIADO DG S99,

(B) &) S08 Ared [Fromres AHS'IE ST K.

(C) Zrad FRNBO &S, ords Srhm Jaren Tabdo 28804,

(D) R FHEOL [DS0gses 2.

(1) (A) & (B)
(3)  (A)(B), (C) & (D)

Identify the correct pair :

(1)  Thousand Pillar Temple
(2) Padmakshi Temple

(3) Chitrasala

(4) Ramappa Temple

QD 23ebedd 8050l

(1) Fow Jogre HA

(2) Do Baocho

3) Qsre

@) o) Baecho

Match the following :
List - I
(a) Motupalli Inscription
(b) Chandupatla Inscription
(¢) Nitisara
(d) Andhrabhasha bhushanam
508 SrE3R 3eDHE S ;
Der -1

(a) Bwtndd ;Hdso
(b) oot RS0
(¢) Adarso
d) 0o rar Frino

@ (b)) @ @
(1) dii iy i i
(2 iv il i i
(3) 1 i i iv
4 i i v

P11

(2) (A),(B)&(C)
(4) (A)only

Ganapatideva
Rudreshwara
Machaladevi

Rudramba

fade Byt

SB35k

Arte
S0

i e Haydo
¥ aJed SO ﬁni&ud

61-B -



195. Consider the following statements with regard to Qutubshahis and select the comrect answer
(A) According to Tavernier there were twenty thousand prostitutes in Hyderabad city.
(B) Land Revenue collection was auctioned.
(C) The Puranapul was a model for a bridge in London.
(D) Abul Hasan Tanasha granted three villages to Rama temple at Bhadrachalam.
S0l rirof Ho20000 B0 TErTOS H62D0D D/S  DSPETSS0D
Sofrnadn
(A) &T0)chE B5do TETerdd Sidod athsan Jedod Jigen doBd.
(B) Zrd 3 Sdransd Joo Fhad
(C) oS SN Lk SoBsk :gmﬁ 28 ST,
D) ®28 FHS Taar HODooS'D 0 Hoodirds Srd mared dEo

ol
(1) @B)&(C) (2) (A), (B) & (C)
(3) (A)(B)& (D) (4) (A)&(B)

196. Match the following :
List-1 List - IT
(a) Kollur mines i Movva
(b) Hyderabad city i  Kohinoor
(c) Kancharla Gopanna i - Mir Momin Astrabadi
(d) Kshetrayya iv Dasarathi Satakam
208 8D 285580 ;
arDer- 1 aDer -1

(a) S fedven i 230ed 8
(h) rSTerdd Stdo i Sordrd
() Soudsd AN i b IrS uFord
d) Yoy iv 60 $880
The correct match is / O 23¢8 |

(@ (b)) @© (@
(1) i i 1 v

(2) i @ 1 v
(3) i i 1V 1
(4) - iv ;

197. Arrange them in chronological order :

(A) Ibrahim Qutubsha (B) Abdulla Qutubsha
(C) Mohammad Qutubsha (D) Jamsheed

[E08 B SerSES06" 8350 ; -
(A) =aro S (B) ®peT SoehdSar
€) oS Sy D) 20n&

(1) (A),(C), (B), (D) (2) (D), (A), (C),(B)
(3) (D) (A), (B), (C) 4) (A), (D), (C), (B)

g S -—E] WU =



198. Identify the following statements which is not correct ?

(1)  Basheer-ud-Daula was the minister for law during Mahaboob Ali Pasha reign.

(2)  Salar Jung Museum was opened to the public on 16 December 1951 by Pandit Jawahar Lal

Mehru,

(3)  Raja Bahadur Venkat Rama Reddy was the Police Commissioner of Hyderabad.

(4) Al Nawaz Jung was the Chief Engineer during the reign of Nizam Ali Khan.

808 635" HO5D (HB5SS50D HBOtHEY :

(1) D edIr Fos Food’ 2h8.48-Fer Ti0h e Hod.

(2) b 2ol durgpohodd 16 Aok 1951 & H0AS 3375arS Fow RETS
QOGS0 |ardodod . |

(3) Cranred SoSLTArdd rdorard O $aSEr KT,

4) ©D S5 3off dero ud IS o rood 1HHEG Roud.

199, Match the following :
List = I - - List - IT

(2)  Aghornath Chattopadhyay i Gloria High School

(b)  Afsar Jung Bahadur ii . Madrasa-i-Ailiyas

(c) Salar JungI ui  Asafia High School

(d) Syed Hussain Bilgrami iv.  Madrasa-i-Aizza

1508 S8R 28D Gthen ;

Do -1 Do - 11

(1) ®ISTH SE s i fadir 3raren

(b) )5 208 2irdrS i orR-2- odairh

(€) 288 frerd a0l iii  eupolr Zrar,d

d)  RDchs NS Dierty v N-2-0er

The correct match is : / HOTDS 23ek -

@ (b & (@

(1) 1 v ii iii

(2) i ii iv il

(3) i ii i iv

@ i i i v
200. Which one of the following statements is NOT correct 7 -

(1) Muzafar Jung gave the title ‘Nawab Zafar Jung” to the French Governor Dupleix.

(2)  Muzafar Jung was killed by Arcot Nawab Anwar-ud-din.

(3)  The Northern Circars were handed over to the French in 1753 by Salabath Jung.

(4)  After the death of Nizam-ul-Mulk Asaf Jah his son Nasir Jung became the ruler,

1508 |DSBSSNOS’ DA HOTIA ¢ ?

(1) <0200 20k oD N8 S RS “Sard 2H8 206" ©8) DD HO S

TR

(2) DB 2ofidh oD Saraw, 8 HAS oD,

(3) 1753 HodS8 508" Hderad 208 & HTHOD (RoD08 el B .

4) Qo &S ) AP B HOTI0SE0 AHS HoSrtods Tal 2ol oradi.
P11 [S] 63B
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